UGC NET 2022 ELECTRONIC SCIENCE

Topic:- 088_PARTA_S2

1)  Ina MOSFET. the transconductance in linear region can be expressed as |

(2) Eﬂ—i'fl—“:fvs — Vi )Vp
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[Question ID = 3241][Question Description = 101_88_ETS_SEP22_S1_QO01]
1. 1 [Option ID = 12961]
2. 2 [Option ID = 12962]
3. 3 [Option ID = 12963]
4. 4 [Option ID = 12964]

2) Inajunction field effect transistor the depletion lnver width at a distance ¢ from the

souTce is
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[Question ID = 3242][Question Description = 102_88_ETS_SEP22_S1_Q02]
1 [Option ID = 12965]
2 [Option ID = 12966]
3 [Option ID = 12967]
4 [Option ID = 12968]
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3) The equivaient circuit of Tunnel diode is shown in the following Figure: The resistive

cut off frequency is given by
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[Question ID = 3243][Question Description = 103_88_ETS_SEP22_S1_QO03]
1. 1 [Option ID = 12969]
2. 2 [Option ID = 12970]
3. 3 [Option ID = 12971]



4. 4 [Option ID = 12972]

4) An abrupt p —n junction in thermal equilibrium is shown in Fig. The built in
potential V¥, is given as:

(L ¥ +ak

@ Eg— (g% +a%)

(% Eg+(e¥+aq¥)
(1) Eg—{qV,—aV,)

[Question ID = 3244][Question Description = 104_88_ETS_SEP22_S1_Q04]
1. 1 [Option ID = 12973]
2. 2 [Option ID = 12974]
3. 3 [Option ID = 12975]
4. 4 [Option ID = 12976]

5) For a thermally grown silicon dioxide layer, mn a MOSFET, the leakage current
hotween the gate and channel is @

(1) 0
(2) Very small
()  Large

1) Very large

[Question ID = 3245][Question Description = 105_88_ETS_SEP22_S1_Q05]
1. 1 [Option ID = 12977]
2. 2 [Option ID = 12978]
3. 3 [Option ID = 12979]
4. 4 [Option ID = 12980]

6) N 1s the doping level of substrate and V is the effective voltage across the junction
in a MOSFET, then the depletion region width for the junction is given by -

13 ||:E_,, B

(4
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[Question ID = 3246][Question Description = 106_88_ETS_SEP22_S1_Q06]
1. 1 [Option ID = 12981]
2. 2 [Option ID = 12982]
3. 3 [Option ID = 12983]
4. 4 [Option ID = 12984]

7)  Foru MOSFET fabrication the substrate required is :

{1}y n-type suhsteate

(2) p type substrate
{3 Insulator type substrate
(4) Degenerate type silicon

[Question ID = 3247][Question Description = 107_88_ETS_SEP22_S1_QO07]
1. 1 [Option ID = 12985]
2. 2 [Option ID = 12986]
3. 3 [Option ID = 12987]



4. 4 [Option ID = 12988]

8) The current voltage relationship for the MOS transistor in a saturation region is

expressed as

(1) Ay vy
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[Question ID = 3248][Question Description = 108_88_ETS_SEP22_S1_Q08]
1. 1 [Option ID = 12989]
2. 2 [Option ID = 12990]

3. 3 [Option ID = 12991]
4. 4 [Option ID = 12992]

9) Thez transform of ¢ " sampled at 10Hz will be :

(4)

=11

[Question ID = 3249][Question Description = 109_88_ETS_SEP22_S1_Q09]
1. 1 [Option ID = 12993]
2. 2 [Option ID = 12994]
3. 3 [Option ID = 12995]
4. 4 [Option ID = 12996]

10) if b-and n be the number of branches and number of nodes, respectively, and s he the

number of separate parts, then the number of independent lodp equations will be :

1, bt+n—=
2) b=—n+s
3 b+nt+s

4) b=n—=s

[Question ID = 3250][Question Description = 110_88_ETS_SEP22_S1_Q10]
1. 1 [Option ID = 12997]
2. 2 [Option ID = 12998]
3. 3 [Option ID = 12999]
4. 4 [Option ID = 13000]

11) A Two - port network is reciprocal if and only if :

() Zy=12In
@) Vo=-¥,

(3) f = ff.'
) hyz =hyy

[Question ID = 3251][Question Description = 111_88_ETS_SEP22_S1_Q11]
1. 1 [Option ID = 13001]
2. 2 [Option ID = 13002]
3. 3 [Option ID = 13003]
4. 4 [Option ID = 13004]



12) AK -step function is shown in the following figure:
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The Laplace transform of the fanction () will be @
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[Question ID = 3252][Question Description = 112_88_ETS_SEP22_S1_Q12]
1. 1 [Option ID = 13005]
2. 2 [Option ID = 13006]
3. 3 [Option ID = 13007]
4. 4 [Option ID = 13008]

13) An essential requirement of a well designed choke input filter 1s :

{1y X atinput frequency be equal to &,

(2) X, be equal to X at input frequency

{3 X be much less than X at input frequency

{4) X be much greater than Xe at input frequency

[Question ID = 3253][Question Description = 113_88_ETS_SEP22_S1_Q13]
1. 1 [Option ID = 13009]
2. 2 [Option ID = 13010]
3. 3 [Option ID = 13011]
4. 4 [Option ID = 13012]

14) The total output offset voltage of an operational amplifier 18 a function of these
offocts.
(1) Input offset voltage and Input bias currents
(2)  Input offest voltage and Input offeet currents
(3)  Input offset currents and Input bias currents
(4)  Input voltage range and Input offset currents

[Question ID = 3254][Question Description = 114_88_ETS_SEP22_S1_Q14]
1. 1 [Option ID = 13013]
2. 2 [Option ID = 13014]
3. 3 [Option ID = 13015]
4. 4 [Option ID = 13016]

15) An Audio pre-amplifier needs to veproduce signals as high as 20 kHz. The maximum
output swing i 10 V peak. The minimum aceeptable slew rate for the op-amp used is

(1) 2514V/ys
(2) 1257V ps

(3) 12568V /ps
{4) 25136 V/ps

[Question ID = 3255][Question Description = 115_88_ETS_SEP22_S1_Q15]
1. 1 [Option ID = 13017]
2. 2 [Option ID = 13018]
3. 3 [Option ID = 13019]
4. 4 [Option ID = 13020]



16) Which of the following terms 1s not applicable for Absolute-value output circuit?
{1y Output iz always positive rogardless of the polarity of the Input Signal
(2)  Gain of the pircuit is greater than 1
(%)  Positive peak amplitodes are same as input peak amplitudes
{4)  Diode D, compensates for the voltage deop scross diodes Dy and Dy
[Question ID = 3256][Question Description = 116_88_ETS_SEP22_S1_Q16]
1. 1 [Option ID = 13021]
2. 2 [Option ID = 13022]

3. 3 [Option ID = 13023]
4. 4 [Option ID = 13024]

17) (Consider the expression ¥ =P 3 Q @R where P, (). H are the input variables and Y is
the output variable. Y will be logie {) if

{A)  anodd number of input varinhles are 1
(B) an even number of input variahles are 1
{C)  anopdd number of inputs variables are 0
(D} an even number of input variable are 0
(E)  an odd number of input variable between (0 and 1
(“hoose the correct answer from the eptions given below:
{1y (AL (Cyonly
(2)  (E). (D) only
(3 (A) (D) only
(9 (1) only
[Question ID = 3257][Question Description = 117_88_ETS_SEP22_S1_Q17]
1. 1 [Option ID = 13025]
2. 2 [Option ID = 13026]

3. 3 [Option ID = 13027]
4. 4 [Option ID = 13028]

18) Transmission line of the driving gate 1s represented by load equal to characteristic

impedence of the line Z;. What 1s the behaviour of following transmission line aireuit
when a pulse is applied to the transmission line?

E I .
o= 60 ohm apan

{13 HRetlected pulse
(2)  Undershoot
(1) Overshoot and ringing after several reflections

(1) Undershoot and ringing after five reflections

[Question ID = 3258][Question Description = 118_88_ETS_SEP22_S1_Q18]
1. 1 [Option ID = 13029]
2. 2 [Option ID = 13030]
3. 3 [Option ID = 13031]
4. 4 [Option ID = 13032]

19) Which of the following 1s true about a tracking A/D convertor?

(1) It uses up counter only
(2) It uses down counter only
(3) Ituses downlup counter

{4) It uses up/down counter

[Question ID = 3259][Question Description = 119_88_ETS_SEP22_S1_Q19]
1. 1 [Option ID = 13033]
2. 2 [Option ID = 13034]
3. 3 [Option ID = 13035]
4. 4 [Option ID = 13036]



20) A 4-bit synchronous counter uses {lip-flops with propagation delay of 20 ms
sach. The maximum passible time required to change of state will be :
(1) 20 ms
(2) 40ms
(3 60 ms
(4) 80ms

[Question ID = 3260][Question Description = 120_88_ETS_SEP22_S1_Q20]
1. 1 [Option ID = 13037]
2. 2 [Option ID = 13038]
3. 3 [Option ID = 13039]
4. 4 [Option ID = 13040]

21) Which one of the following is not the foature of 80517

(1) 128 hyies of RAM

(2) 4K bytes of on-chip ROM
(3) 16 Interupts

(4)  Four 8-bit L0 ports

[Question ID = 3261][Question Description = 121_88_ETS_SEP22_S1_Q21]
1. 1 [Option ID = 13041]
2. 2 [Option ID = 13042]
3. 3 [Option ID = 13043]
4. 4 [Option ID = 13044]

22) In a version of 8051 the crystal frequency 15 12 MHz, find the time delay assocated
with loop section of the following DELAY subroutine. Consider the machine cyele
lasts 12 clock cyeles of the erystal frequency

DELAY : MOV R3, # 200
HERE: NOP
NOP
NOP
DINZ B3 HERE
RET
(1) 0.5 milliseconds
{(2) 1 millisecond
(# 15 milliseconds
(4) % milliseconds

[Question ID = 3262][Question Description = 122_88_ETS_SEP22_S1_Q22]
1. 1 [Option ID = 13045]
2. 2 [Option ID = 13046]
3. 3 [Option ID = 13047]
4. 4 [Option ID = 13048]

23) What 1s tho operation performed by the following assembly language program of
B0517

CLR A

MOV RI1.# 100H

MOV R7.#21H
AGAIN: MOV  @RLA

INC R1

DINC  R7, AGAIN

(1) Clears the 21 RAM locations starting from address 100 H
(2)  CUlears 100 RAM locations starting from address 21 H

{3 Clears 33 RAM loentions starting from address 100 H

(4)  Clears 33 RAM locations starting from address 21 H



[Question ID = 3263][Question Description = 123_88_ETS_SEP22_S1_Q23]
1. 1 [Option ID = 13049]
2. 2 [Option ID = 13050]
3. 3 [Option ID = 13051]
4. 4[Option ID = 13052]

24) A stepper motor has the following specifications :

Step angle : 29
Steps per revolution : 180
Neo. of rotor teeth : 45

Movement per 4 - step sequence : £°
The following program will rototate n motor by how many degrees?
ORG OO0
MOV A #GEH
MOV RO. # a2
BACK: RR A
MOV PLA
ACALL  DELAY
DJINZ RO, BACK
END
(1) 64"
(2), a2
(3 e
(4) 180°
[Question ID = 3264][Question Description = 124_88_ETS_SEP22_S1_Q24]
1. 1 [Option ID = 13053]
2. 2 [Option ID = 13054]

3. 3 [Option ID = 13055]
4. 4 [Option ID = 13056]

25) The absolute potential at a poant P which 1s 2 m from a point charge of +5u( is given
hy :

(1 2285 kV
(2) 11.25kV
(3) 45.00kV
{4) B0 kY

[Question ID = 3265][Question Description = 125_88_ETS_SEP22_S1_Q25]
1. 1 [Option ID = 13057]
2. 2 [Option ID = 13058]
3. 3 [Option ID = 13059]
4. 4 [Option ID = 13060]

26) A sphere of radiusy; = 30 cm has o charge density varation pg (r/r)

where py = 200 pC/m?. The value of total charge on the sphere is

(1) 17pC
(2) 84 ptC
(@ 84 pC

) 200 pC

[Question ID = 3266][Question Description = 126_88_ETS_SEP22_S1_Q26]
1. 1 [Option ID = 13061]
2. 2 [Option ID = 13062]
3. 3 [Option ID = 13063]
4. 4 [Option ID = 13064]



27) Tomatch the impedance of a "ground penctrating radar antenna’ to the ground,
impedance of ground 1= given by the expresion, (if €,= 14, g, = 1, ¢ = 10770/m,

operating frequency =200 MHz)

4
(1 377 J—wm
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[Question ID = 3267][Question Description = 127_88_ETS_SEP22_S1_Q27]
1. 1 [Option ID = 13065]
2. 2 [Option ID = 13066]
3. 3 [Option ID = 13067]
4. 4 [Option ID = 13068]

28) For an isotropic antenna £ (8,p) = 1, D = 1, for-all § and ¢. The beam aren for the

isotropic antenna is given by ©

(1) m
(2) 4m
(3) 3m
{4y 2w

[Question ID = 3268][Question Description = 128_88_ETS_SEP22_S1_Q28]
1. 1 [Option ID = 13069]
2. 2 [Option ID = 13070]
3. 3 [Option ID = 13071]
4. 4 [Option ID = 13072]

29) The appropriate value of modulation index f§ for transition hetween narrow band and

wide band FM is considered as ;

(1) 0.150
2y 0471

(3) 0.271
4) 0015

[Question ID = 3269][Question Description = 129_88_ETS_SEP22_S1_Q29]
1. 1 [Option ID = 13073]
2. 2 [Option ID = 13074]
3. 3 [Option ID = 13075]
4. 4 [Option ID = 13076]

30) Fora given probability of error, binary coherent FSK is inferior to binary coherent
PSK by :

(1) 0dB
{2) 2dB
(3) ddB
4) 6dB

[Question ID = 3270][Question Description = 130_88_ETS_SEP22_S1_Q30]
1. 1 [Option ID = 13077]
2. 2 [Option ID = 13078]
3. 3 [Option ID = 13079]
4. 4 [Option ID = 13080]



31) A voice signal band himited to 3.4 kHz is sampled at 8 kHz and pulse code modulated
using 64 quantization lovels. Ten such signals are time division multiplexed using an

&-hit synchronising word. The minimum channel band width will be

(1) 64 kHx
2y 128 kHe
(3 320 kHz
(4) 520 kHe

[Question ID = 3271][Question Description = 131_88_ETS_SEP22_S1_Q31]
1. 1 [Option ID = 13081]
2. 2 [Option ID = 13082]
3. 3 [Option ID = 13083]
4. 4 [Option ID = 13084]

32) The number of reference patterns in the code book (N), the number of samples in
each

block (K) and the coded transmission rate in bits per sample (r) are related as -

(1) r=~Nlog:(K)

(2} r=~Klog:(N)
&

(3) r= pEERT
s LogsiNI

) -

[Question ID = 3272][Question Description = 132_88_ETS_SEP22_S1_Q32]
1. 1 [Option ID = 13085]
2. 2 [Option ID = 13086]
3. 3 [Option ID = 13087]
4. 4[Option ID = 13088]

33) A graded mdexed optical fiber has a parabolic refractive index profile (@ = 2), If the
fiber has a numerical aperture = 022 the total number of guided modes at a

wavelength of 1310 nm is given by :

1y 174
(2) 1740
(3) 119
4) 274

[Question ID = 3273][Question Description = 133_88_ETS_SEP22_S1_Q33]
1. 1 [Option ID = 13089]
2. 2 [Option ID = 13090]
3. 3 [Option ID = 13091]
4. 4 [Option ID = 13092]

34) Inoptical Communication system the Zero dispersion wave length is given by -

(1) (0 nm

2y 1310 nm
{3y 1660 nm
(4) 900 nm

[Question ID = 3274][Question Description = 134_88_ETS_SEP22_S1_Q34]
1. 1 [Option ID = 13093]
2. 2 [Option ID = 13094]
3. 3 [Option ID = 13095]
4. 4 [Option ID = 13096]



35) AnH-Lload is connected to a 250V, 400 Hz step down de converter. The average load
current is 1000 A The load resistance is (05 Ohm. The allowed ripple limit is 15%. The
minimum value of inductor to limit the maximam ripple current is -

(1) 66.7mH
(Z) 667 mH

(1) 3.67TmH
(4) 896.7 mH

[Question ID = 3275][Question Description = 135_88_ETS_SEP22_S1_Q35]
1. 1 [Option ID = 13097]
2. 2 [Option ID = 13098]
3. 3 [Option ID = 13099]
4. 4 [Option ID = 13100]

36) A thyristor ean be fired with E of EHI}V/HF_ If the forward breakover current of the
device 15 5 mA. The value of diffusion capacitance 1= given by -

(1) 25pF
(2) 235 pF
(3)  2HpF
“) Z5uF

[Question ID = 3276][Question Description = 136_88_ETS_SEP22_S1_Q36]
1. 1 [Option ID = 13101]
2. 2 [Option ID = 13102]
3. 3 [Option ID = 13103]
4. 4 [Option ID = 13104]

37) Which of the following statements 1s nat eorrect about Electromagnetic Flow meter?

(1) This technigue can be usedd for eleétrical non-contacting fluids like gases:

(2)  The principle of operation i directly analogus to Faraday's law  of
electromagnetic mduction for solid conduotors:

(3) Electromagnetic flow meter 1s suitable for fluids contaiming solid matter.
{4)  The use of these meters is limited to fluids having conductivity atienst of the
order of 1 % 10~ U/om.(mho/ecm)

[Question ID = 3277][Question Description = 137_88_ETS_SEP22_S1_Q37]
1. 1 [Option ID = 13105]
2. 2 [Option ID = 13106]
3. 3 [Option ID = 13107]
4. 4 [Option ID = 13108]

38) For an lonization chamber, If "5' is ionization density. 'N.) represents ionizing
particles armiving each second 'L 15 active length of Chamber ‘P is pressure of gas in
Chamber and 'e" 18 the charge of an electron. Then lonization current is caleulated
USINE equation,

LY &
(1 ls=
2 Is= 'v——";m
@ ps=2et

P

(4) Is=NpSLPe

[Question ID = 3278][Question Description = 138_88_ETS_SEP22_S1_Q38]
1. 1 [Option ID = 13109]
2. 2 [Option ID = 13110]
3. 3 [Option ID = 13111]
4. 4 [Option ID = 13112]

39) Which of the following is not a desirable characteristic of manometer {luid?

(1) 1t should have high viseosity.

(2) It should be non-eorrosive,

{3) It should be free from capllary effects
{(4) It should have negligible surface tension

[Question ID = 3279][Question Description = 139_88_ETS_SEP22_S1_Q39]



1 [Option ID = 13113]
2 [Option ID = 13114]
3 [Option ID = 13115]
4 [Option ID = 13116]

AW N =

40) The @ of an unknown coil using parallel connection measurement mathod can he
caloulated using which of the following equations.

.
1y @p= (€12 (0ud)
: (g -)

@ Q="
(6 —C3)0gu0s)
B Q="
; P - L
4y gp= (2 #E N ga)

[Question ID = 3280][Question Description = 140_88_ETS_SEP22_S1_Q40]
1. 1 [Option ID = 13117]
2. 2 [Option ID = 13118]
3. 3 [Option ID = 13119]
4. 4 [Option ID = 13120]

41) The pull up to pull down ratio for an n mos inverter driven by another n mos inverter
can be evaluated from:

1 __ Tid = “Vea
A Vi =V~ B Vi = =2
. W — W, Wi ;
(© 7 Wi =V = T2 (Vi) @) T Vi — Vi) = 72 (V)

Choose the eorrect answer from the options given below:

(1 (A (B) anly
(2)  (B), (C)enly
(3 () (D) only
(4 (A (C) enly

[Question ID = 3281][Question Description = 141_88_ETS_SEP22_S1_Q41]
1. 1 [Option ID = 13121]
2. 2 [Option ID = 13122]
3. 3 [Option ID = 13123]
4. 4 [Option ID = 13124]

42) The layers of :uoe involves a subset of layers. For mies we require :

(A)  Cpntact, (Black or Brown)
(B Palysilicon (Green)

() Metal (Blue)

(D Implant (Yellow)

Choose the correct answer from the options given below:

{1y (A), (B), (C) only
2y (B),(C), (D) only
(3 (A) (C) (D) only
(4 (A), (B), (D) only

[Question ID = 3282][Question Description = 142_88_ETS_SEP22_S1_Q42]
1. 1 [Option ID = 13125]
2. 2 [Option ID = 13126]
3. 3 [Option ID = 13127]
4. 4 [Option ID = 13128]



43) The layout of raes involves a subset of the layers-and features set out. For sz we

require
(A)  N-diffusion (Green) (B) TImplant (Yellow)
() Polysilicon (Red) (1)) N-diffusion (Blug)

Choose the correct answer from the options given below:

(1) (AL (B), (C) only
(Z) (A} (C), (D) only
(4 (B, (C), (D) only
) (A} (B), (D) only

[Question ID = 3283][Question Description = 143_88_ETS_SEP22_S1_Q43]
1. 1 [Option ID = 13129]
2. 2 [Option ID = 13130]
3. 3 [Option ID = 13131]
4. 4 [Option ID = 13132]

44) The electron current density in semiconductor devices 1s given as

(A) quenze + gDn 3—3 (B) g, pe +qDp 2‘3
" AT an KT @
() rwn(ns +-¢—5;) () q_u,,(n-r - Té}}

Choose the eorreet answer from the options given below:

{1y {(A)and (B) only
{2) (A) and () only
(3 (A)and (D) enly
(4 (C)y and (D) only

[Question ID = 3284][Question Description = 144_88_ETS_SEP22_S1_Q44]
1. 1 [Option ID = 13133]
2. 2 [Option ID = 13134]
3. 3 [Option ID = 13135]
4. 4 [Option ID = 13136]

45) The number of ocoupied conduction band levels in intrinsic senviconductor 18

(A)  Neexp(—2E) (B) [ N(E)F(E)dE

©  Noexp(EE)

Bra
= () j!‘_F Pexp [NIE)ME

Choose the correct answer from the options given helow:

(1) (A) and (B) anly
(2 (B) and (C) anly
(#)  (C)and (D) only
4) (A} and (D) only

[Question ID = 3285][Question Description = 145_88_ETS_SEP22_S1_Q45]
1. 1 [Option ID = 13137]
2. 2 [Option ID = 13138]
3. 3 [Option ID = 13139]
4. 4 [Option ID = 13140]



46) HRead the following statements regarding transfer function.

{A)  The transfer function is used to deseribe netwaorks which have only two ports,

(B} The transfer function 18 used to deseribe networks which have atleast two

ports.

() The ratio of transforms of one current to ancther current i= called current

transfer function.

(D) The ratio of transforms of one voltage to another current is called transfer

admittance function.

Chobse the eorrect answer from the options given below:

(1 (A) and () anly

(Z)  (B)and (C) anly

(3) (B and (1)) only

(4 () and (I}) only
[Question ID = 3286][Question Description = 146_88_ETS_SEP22_S1_Q46]
1. 1 [Option ID = 13141]
2. 2 [Option ID = 13142]

3. 3 [Option ID = 13143]
4. 4 [Option ID = 13144]

47) Read the following statements regarding two port networks.

(Al  The condition of reciprocity and symmetry for a two-port network with 'g’
parameter representation can be deduced from the interrelationship of 'h' and

g parameters.

{B) The condition of reciprocity for 'h' parameter representation leads to the
condition of reciprocity for 'g’ parameters representation as g3 = —gy;

() The condition of symmetry in h.parameters representation never leads to the
condition of symmetry in ‘g’ parameters representation.

(D) The symmetry conditicn in 'h’ and ‘g parameter representation ean be

deduced by putting Ity; = g4y

{"hoose the correct answer from the options given below:

(1) (A)and (B) only
(2)  (B)and (C) only
(@) (C) and (D) only
(4)  (A)and (D) only

[Question ID = 3287][Question Description = 147_88_ETS_SEP22_S1_Q47]
1. 1 [Option ID = 13145]
2. 2 [Option ID = 13146]
3. 3 [Option ID = 13147]
4. 4 [Option ID = 13148]



48) Which of the following statements are correct?

(Al

HEY
{34
(1)
(I

An Instrumentation Amplifier must have low de offset as well as low output

impedance.

A Voltage to current converter is used for LED and Zener diode testing.
Current to voltage converter is also called transconductance amplifier.
A Sample and hold etrewt is used-in digital to analng interfacing.

A precision diode may never bo used as peak value detoetor.

(*hoose the correct answer from the options given below :

(1
(2)
(53]
(41

(A) and (B) anly
{A) and (C) only
(D) and (E) only
(By and (D) only

[Question ID = 3288][Question Description = 148_88_ETS_SEP22_S1_Q48]
1. 1 [Option ID = 13149]
2. 2 [Option ID = 13150]
3. 3 [Option ID = 13151]
4. 4 [Option ID = 13152]

49) Which of the following statements are correct?

(A)
(B
(e

(I

(E)

Zero crossing detector is & comparator with Vea= 0
An astable multivibrator is used to generate pulses of desired duration.

The phase shift and wien bridge arve commonly used sinewave oscillators {or

radio frequency,

The frequency of a square wave generator i= independant of trigger levels of

comparator.

A Triangular wave can be generated by integrating o square wave.

{’hoose the correct answer from the options given below :

(1)
(2)
(3
4

(A) and (B) anly
{A) and () only
{A) and (E) only
(D) and (E) anly

[Question ID = 3289][Question Description = 149_88_ETS_SEP22_S1_Q49]
1. 1 [Option ID = 13153]
2. 2 [Option ID = 13154]
3. 3 [Option ID = 13155]
4. 4 [Option ID = 13156]



50) Which of the following statements are correct”

{A)  Ina boost regulator, the cutput voltage 15 filtered with choke-input filtor,
(BY A capacitor may be needed in a disereie wvoltage regulator to prevent
oscillations.

(21 Thermal shutdown occurs in an (' regulator if internal temperature is too
high:

() An increase of line voltage into a power supply produces an increase in load

voltage.

(E) A series regulator is an example of a switching regulator,

Choose the correct answer from the options given below -

(1) {(AL(Cyand (E) only
2y (B)L(C) and (D) only
(3 (BLID) and (E) anly

(4)  (C),(1) hnd (E) only

[Question ID = 3290][Question Description = 150_88_ETS_SEP22_S1_Q50]
1. 1 [Option ID = 13157]
2. 2 [Option ID = 13158]
3. 3 [Option ID = 13159]
4. 4 [Option ID = 13160]

51) The stops for subtracting two positive numbers (M-N) using (r-1)'s complement are;

(A} Add the minuend M to the (r—1)'s complement of the substrahend N.
(B) Ifanend carry occurs, add 1 to the least sigmificant bit.

(') If end carry does not occur, take the {r-1)'s complement of the number

obtained in step A and place negative sign in front

Dy Take (r-1)s complement of the number obtained in step B on step C.

Choose the correct answer from the options given below :

(1) (ALIBL(D) only

(2)  (ALBL(Cronly

(3 (AL only

(4) (B 0) (D) only
[Question ID = 3291][Question Description = 151_88_ETS_SEP22_S1_Q51]
1. 1 [Option ID = 13161]
2. 2 [Option ID = 13162]

3. 3 [Option ID = 13163]
4. 4 [Option ID = 13164]



52) Foran RS flip flop :
Ay R=0, 8=0, Q=1
B) R=0,8=0 Qu:=0x
) R=0.8=0 Qe =Qx
D) R=18=0 Q=0

(B} R=0,8=1 Qan=1

{"hoose the correct answer from the options given below :

(1) {C)(D),(E) only
() (A)D), (E) anly
(%) (BL{D)(E) only
{4)  (€)and (D) only

[Question ID = 3292][Question Description = 152_88_ETS_SEP22_S1_Q52]
1. 1 [Option ID = 13165]
2. 2 [Option ID = 13166]
3. 3 [Option ID = 13167]
4. 4 [Option ID = 13168]

53) The methods of passing parameters to a procedure are:

(A) Using intarrupt routing
(B)  Using general memory nnd named memory locations
(") Using register to pass values of the varinbles

(D)  Using the stack to pass values of variahles

Choose the correct answer from the options given helow -

(1) (AL(HLD) only
(2)  (ALE)(C) only
(3 (AC),(1) anly
(1) (BLIOLD) only

[Question ID = 3293][Question Description = 153_88_ETS_SEP22_S1_Q53]
1. 1 [Option ID = 13169]
2. 2 [Option ID = 13170]
3. 3 [Option ID = 13171]
4. 4 [Option ID = 13172]



54) Which of the following steps are necessary for developing an assembly langunge
program?
(A} Write down in general terms the algorithm for the task program has to solve
using flow chart
(B)  Write an initialization chek-list for your program
() Determine instruction statements required to do each part of the program
(D) Start writting assembly language code for the program

(£)  Execute the program on the microprocessor

Chogse the correet answer from the options given helow

(1) (ALID).(E)only
(2] (ALB)L(C)(E) only
3 (0L D)(E) only

(4)  ALBL(O) (D) only

[Question ID = 3294][Question Description = 154_88_ETS_SEP22_S1_Q54]
1. 1 [Option ID = 13173]
2. 2 [Option ID = 13174]
3. 3 [Option ID = 13175]
4. 4 [Option ID = 13176]

55) Read the following statements regarding signal flow graph.

(A)  The signal travels along a branch in the direction of an arraw,

(B)  The Node transmutts signnls in all the branches entering at that Node.

(')  Input signal at Node 1s the sum of all signals leaving that Node,

(1) The input signal is multiplied by the transmittance to obtain the output
sigmal.

Choose the correct nnswer from the options given below -

(1) (A) and (B) anly
(2)  (B) and (D) only
(3) (A) and (D) only

(4) (B) and (C) only

[Question ID = 3295][Question Description = 155_88_ETS_SEP22_S1_Q55]
1. 1 [Option ID = 13177]
2. 2 [Option ID = 13178]
3. 3 [Option ID = 13179]
4. 4 [Option ID = 13180]



56) Forsky waves. following statements are given :

(A n > 1. this shows ?31% positive

(BY n=1, show 81;—: Negative

(Y = 1 shows ﬂ!% <1
M wy-v=et

(E)  n= 0shows 51 rﬁz-:l,)" =1

Choase the correct answer from the options given below :
(1) (A anly

(2)  (B)(D)only

(3 (BLIOLI)(E) only

(4 (ALDY(E)yonly

[Question ID = 3296][Question Description = 156_88_ETS_SEP22_S1_Q56]
1. 1 [Option ID = 13181]
2. 2 [Option ID = 13182]
3. 3 [Option ID = 13183]
4. 4 [Option ID = 13184]

57) For Poynting vector, following are given:
(A)  Poynting Vector around a point source 1s radial
(B) There are anly Ep &E,, present and are transverse
() There s only Egcomponent is present
(I3 There 15 only E, is present
()  Poynting vector does not exist around a point source

Choose the eorrect answer from the options given bolow :

(1) (A) and (D) only

2)  (B) and (E) only

(3)  (E)and (D) enly

(4)  (A) and (B) only
[Question ID = 3297][Question Description = 157_88_ETS_SEP22_S1_Q57]
1. 1 [Option ID = 13185]
2. 2 [Option ID = 13186]

3. 3 [Option ID = 13187]
4. 4 [Option ID = 13188]

58) Forelectrical drives
A FarTm(t) <T,(0,5 >0
(Bi  FarTm(t) = T;_(EI,% = 0, speed increases
(€1 ForTm(t) = T,(t), 5= = 0. drive attains steady state

W el

(D) The Equation ]:% +=

=Tm(t)—Ty(t)

am
(1) Equsﬁon]‘:—‘:—gdif’

= Tm(t) = Tyt)

Choose the correct answer from the options given below
(1) (B).(C)(E) only
(2)  (A)C)(D) only
(3)  (A) and (E) only
() (B) and (1)) only

[Question ID = 3298][Question Description = 158_88_ETS_SEP22_S1_Q58]
1. 1 [Option ID = 13189]
2. 2 [Option ID = 13190]
3. 3 [Option ID = 13191]



4. 4 [Option ID = 13192]

59) In optical fibers. following statements are given:

B) 1=~ —df/di
© b=-Zp
M p=—=0

(E)  Material dispersion is a function of (1) wavelength

("hoose the correct answer from the options given below :

{1y (BL(C)AE) only
{2) (AL(D),(Ej only
(3)  (ALC)AE) only
4 (BriDy(E) only

[Question ID = 3299][Question Description = 159_88_ETS_SEP22_S1_Q59]

1. 1 [Option ID = 13193]
2. 2 [Option ID = 13194]
3. 3 [Option ID = 13195]
4. 4 [Option ID = 13196]

60) In induction motors -

(A)  Inregenerative brenking, the synchronous speed 1s greater than rotor speed

(B) Theshp is Negative in regenerative breaking

() In regenerative breaking rotor speed is greater than synchronoiis speed

() The slip is positive in regenerative hreaking
Choose the correct answer from the options given bolow :
(1) {A) and (B) anly

(2) (A and (D) only

(3 (B)and (C) only

1y () and (1)) only

[Question ID = 3300][Question Description = 160_88_ETS_SEP22_S1_Q60]

1. 1 [Option ID = 13197]
2. 2 [Option ID = 13198]
3. 3 [Option ID = 13199]
4. 4 [Option ID = 13200]



61) Read the following statements

(A) A selective filtering method is most commonly vsed for generation of 5SB

signals

(B) A selective filtering method is most commonly used for gencration of DSB

signals
(C) A VSB modulation is also known a8 asymmetric side band system

D) A VSB modulation is also known as symmetric sideband system

Chopse the correct answer from the options given below :

(1) {A) and (B) only
(2)  (B)and (C) anly
3 {(A) and (C) only

4y (A) and (D) only

[Question ID = 3301][Question Description = 161_88_ETS_SEP22_S1_Q61]

1. 1 [Option ID = 13201]
2. 2 [Option ID = 13202]
3. 3 [Option ID = 13203]
4. 4 [Option ID = 13204]

62) Indigital data transmission, & line code should have the following properties
(A)  Transmission bandwidth should be as smull as possible
() Teansmitoed powe should he-ss high s possibii
() Transmission bandwidth should be as high as possible

(D) Transmitted power should be as low as possible

Choose the correct answer from the options given below :
(1) {A) and (B) only
2} (B} and (C) only
(3 (C) and (D) only

) (A) and (D) only

[Question ID = 3302][Question Description = 162_88_ETS_SEP22_S1_Q62]

1. 1 [Option ID = 13205]
2. 2 [Option ID = 13206]
3. 3 [Option ID = 13207]
4. 4 [Option ID = 13208]



63) Which of the following statements are correct about an IR photodiode?
(A} IR photodiodes cause no risk of contamination or physical damage to the ohject
surface
(B)  For higher temperatures; IR photodiode devices have shorter life

iy IR photodiodes can not be used to measure temperature of moving ohjects

{conveyer bell)
(D) IR phowdiodes are capable of measuring hazeardous ond physically n

accessible process

(‘hoose the correct answer from:the options given below :

(1) (A) (B) and (') only
(2)  (B) and () anly
(30 (A) and (D) anly
4y (B, (C) and (D) anly

[Question ID = 3303][Question Description = 163_88_ETS_SEP22_S1_Q63]
1. 1 [Option ID = 13209]
2. 2 [Option ID = 13210]
3. 3 [Option ID = 13211]
4. 4 [Option ID = 13212]

64) Which of the following statements arve correct ahout AC Bridges?
Ay The Mnpxwell bridge 1s suitable for measurement of Medium:@} Coils
(1<@<10)

{B) For measurements at low frequencies; an oscillator supplies excitation voltage

while at higher frequencies, power line may serve as source of excitation
{7y  The Hay bridge is tonvenient for measuring very low- ) coils (< 1)

iD)  The Schering bridge is particularly useful for the measure of nsulating

properties 1.e, for phase angles nearly 90°

('hoose the carrect answer from the options given below -

(1} (A)and (B) only
2y (A)and (D) only
(3)  (Byand(C) only
4y (B and (D) only

[Question ID = 3304][Question Description = 164_88_ETS_SEP22_S1_Q64]
1. 1 [Option ID = 13213]
2. 2 [Option ID = 13214]
3. 3 [Option ID = 13215]
4. 4 [Option ID = 13216]



65) Fortransducers, following statements are given:
(A)  An optical interferometer is useful for measuring extremely small motioms

(B) The damping ratio of a seizmic instrument should be low for good dynamic

performance
(") Arate gyro is a relative motion measuring device
(D) A pnoumatic motion transducer is non-lincar over a wide range of motion

(E) A piezoelpctric accelerometer can only be used for static motion measurement

Choose the correct answer from the options given below :

(1) (A)and (B) only

{2) (A) and () oniy

(3} (A and (D) only

(4)  (C) and (E) only
[Question ID = 3305][Question Description = 165_88_ETS_SEP22_S1_Q65]
1. 1 [Option ID = 13217]
2. 2 [Option ID = 13218]

3. 3 [Option ID = 13219]
4. 4 [Option ID = 13220]

66) Match Lizt 1 with List 11

List 1 List 11
(A) JFET (1) Two dimensional electron gas
{B) MOSFET (1) Negative resistance device
() Tunnel diode (1) Enhancement made
(D) HEMT (IV) Voltage controlled resistor

(hoose the correct answer from the options given below -

(0 ARV (BT, (C)-(I) (D)(1)

(2) (A)(LIL), (By-(1D), (C)-(L), (D)-(I1V)

(30 (A)(ID, (B)-(L), (C)-(1V), (D)-{1LT)

(4 (AN, BV, ()L, (D11
[Question ID = 3306][Question Description = 166_88_ETS_SEP22_S1_Q66]
1. 1 [Option ID = 13221]
2. 2 [Option ID = 13222]

3. 3 [Option ID = 13223]
4. 4 [Option ID = 13224]

67) Match List | with List 11

Ligt | Last 11
(A JFET (I} Two dimensional electron gas
(H) MOSFET (II) Negative resistance device
() Tunnel diode (11} Enhancement mode
(D) HEMT (IV) Voltage controlled resistor

(Choose the correct answer from the options given helow -

(1) GV (BT, (O)(1T. (D)1
(20 (AR, By, (00, (D)-(1V)
(3)  (A)(ID, (B)-I), (C)-(IV), (D)-(11D)
(4 (A, (B0, (O)-(HD, (D)1



[Question ID = 3307][Question Description = 167_88_ETS_SEP22_S1_Q67]
1. 1 [Option ID = 13225]
2. 2 [Option ID = 13226]
3. 3 [Option ID = 13227]
4. 4 [Option ID = 13228]

68) Match List 1 with List 11

List |

Coefficients of 5 + ays +a; =0

(A) ﬂi > Aay

(B) ai=4na;

(©) a}<aa;

Dy a,=0

List 11
Nature of Roots

(I) Negative real and equal

{Il) Conjugate Imaginary

{Ill) Negative Heal and Unequal

(IV) Conjugate Complex (Heal
negntive)

Choose the correct answor from the options given below @

(1)
2)
(3)
(4}

(A)-CIV, (=TT, (C)=(1), (1)-(111)
(A-(1LD), (Bi-(IV), (C)-(1hy, (1) (1)
(AL, (BI-(B), (C)-(1V), (D)-(11)
(A)-(IV), (B)-(LLL), (C)-(10), (I)-(T)

part

[Question ID = 3308][Question Description = 168_88_ETS_SEP22_S1_Q68]
1. 1 [Option ID = 13229]
2. 2 [Option ID = 13230]
3. 3 [Option ID = 13231]
4. 4 [Option ID = 13232]

69)  Match List | with List 11 -

(A)

(B)

(D)

List 1
Bias Configuration of BJT
Fixed Bias Configuration

Emitter Bias Configuration

Voltage Divider Configuration

Feedbick Bias Configuration

List I
Stahility factor equation

(1) S(Vaz) =—B/Rz

_ =B{Re¢
(D) $(Vas) = ~ e
D L. 9
(V) $(Vag) = = gt

Chiotise the correct answer from the options given below @

n
(2

(3)
1)

(AY-(LL), (B)-(I), (C)-(IV), (D)-(111)
CA)- (L, (B)-(LLD, (C)=(IV), ()-(h
CAY-(LLY, (BY-(IW), (C)-(1), (D)-(111)
CAYCIVY, (331D, (C)-(0), (D)-(111)



[Question ID = 3309][Question Description = 169_88_ETS_SEP22_S1_Q69]
1. 1 [Option ID = 13233]
2. 2 [Option ID = 13234]
3. 3 [Option ID = 13235]
4. 4 [Option ID = 13236]

70) Match List 1 with List 11 -

(A)
(B)
()
(D)

List1
{Decimal)
+43

+123

—56

=107

List I1
(#-hit sign magnitude number}
() 10111000
(1L plirioln
(111) 00101011
(IV) 11101011

Chonse the carrect answer from the options given below :

(1
(2
)
1)

(CA)-CEV), CE-(LL, (O, (D)-(111Y
(A)-(LLD, (B)-(LD, (C-(Ly, (D)-(1V)
(AY(D), (B)-(11), (C)-(LLL), (D)-(IV)
CAY-(LL), (B)-(1LL), (C)-(IV). (D)-i1}

[Question ID = 3310][Question Description = 170_88_ETS_SEP22_S1_Q70]
1. 1 [Option ID = 13237]
2. 2 [Option ID = 13238]
3. 3 [Option ID = 13239]
4. 4 [Option ID = 13240]

71) Martch List | with List 11

(A

B

(€)

)

List [
(Communication Mode)
Meode 0

Mode 1

Maode 2

Mode 3

List 11
(Features)

{l) High speed; 8-hit shift register; one

baud rate of f /12
{11} Standard 8-bit UART; wvariable

baud rate using time | overflows

(1) Multiprocessor 9-hit UART:
varinble baud rate using time 1
overflows

{IV) Multiprocessor 9-hit UART; two

baud rates of f /32andf /64

(hoose the correct answer from the options given below :

(1}
(2}
(&)
(4)

(A= (1 (B)-(11), (CH-(IV), (D)-(111)
(A)-(1), (B)-(11), (Cp(1ITy, (D}-(1V)
(AL-(IV), (BY-(LIDY, (O)-(0), (Dy-(1D
(A)(ITY, (B)-(LLL, (C)<lh, (D)-(1V)

[Question ID = 3311][Question Description = 171_88_ETS_SEP22_S1_Q71]
1. 1 [Option ID = 13241]
2. 2 [Option ID = 13242]
3. 3 [Option ID = 13243]
4. 4 [Option ID = 13244]



72) Mateh List Lwith List 11:

List | Last 11
(iptical Amplifiers Operating band
(A} PDFFA {I) 'S-band
(B) TDFA (l) C-band
() EDFA (111} L-band
(D) Gain shifted EDFA (IV) O-bund

Choaose the corract answer from the options given below ;

(1) (A-(IV), (By(LLT), (C)-(Dy, (D):(11)

(20 (AR(IV), (B)-(D, (C)-(1, (D)-(L1T)

(3 ARV (BT, (C)-(11), (D)-(111)

4) (AN, (B)-(1), (C){IV), (D)-(LL)
[Question ID = 3312][Question Description = 172_88_ETS_SEP22_S1_Q72]
1. 1 [Option ID = 13245]
2. 2 [Option ID = 13246]

3. 3 [Option ID = 13247]
4. 4 [Option ID = 13248]

73)  Match List 1with List 11

Last | List I1
(A) Shannon's theorem {(I) Capacity of Gaussian Noise
channel
(B) Shannon-Hartley theorem (1) Rate of Information
(C) Bayo's theorem (11} Energy of a signal
(1) Parseval's theorem (1V) Conditional probabilities

Choose the correct answer from the options given below :

(1) (AT, (B0, (O30, (DY-{1V)

(2) (AR, (B, (C-IV), (D)=L

3 (AR, (By-(LD, (C)-(V). (D)-(1)

) (A, (B)-(IID. (-1, (D)-(1V)
[Question ID = 3313][Question Description = 173_88_ETS_SEP22_S1_Q73]
1. 1 [Option ID = 13249]
2. 2 [Option ID = 13250]

3. 3 [Option ID = 13251]
4. 4 [Option ID = 13252]



74) Mateh List | with List 11 :
List 1 List 11

Condition of System

Effect of £
(1) Over damped
(A) 0<g<1
() Undamped
(B &=>1
(111} Unstable
cy £=0
(IV) Under damped
(D) &=-1

Choose the correct answer from the options given below ;

(1) (A)-(LLTY, (B-(1), (C)-(11), (D)-{I1V)

() (AHIV), (B, (C)-(D), (D)-(LLD)

(3} (ALY, (BY-LLy, (C)- (LI, (DY-(1D

() (AW, (B, (O)(1T, (Dy-(LLD
[Question ID = 3314][Question Description = 174_88_ETS_SEP22_S1_Q74]
1. 1 [Option ID = 13253]
2. 2 [Option ID = 13254]

3. 3 [Option ID = 13255]
4. 4 [Option ID = 13256]

75) Match List [ with List 11:

List [ Last 11

Transducer Application
(A) Pirani gage () Liquid level
(B) Dielectric gnge (1) Digplacement
(C) Magnetostriciton gage (1) Gas flow

(D) Variable capacitance pressure gage (1V) Sound

Choose the correct answer from the options given below ;

(1) (AN, (B)-(IV), (O)-(T), (Dy-(11)
(2) (A)-(I), (B)-(D, (C(1V), (D)D)
(3) (AL-CIV), (BY-(LL, (C)-(1), (Dy(L1L)

Gy (AL, (BB, (C)V), (D)1

[Question ID = 3315][Question Description = 175_88_ETS_SEP22_S1_Q75]
1. 1 [Option ID = 13257]
2. 2 [Option ID = 13258]
3. 3 [Option ID = 13259]
4. 4 [Option ID = 13260]



76) Arrange the following in ascendmg arder of their dielectric constant -

(A Sigvy
By Ge
() GaAs
oy sio,

Choose the carrect answer from the options given helow -
(L) (AL (B), (D), ()
(2) (B0 A (D)
3 (0), (1), (B), (A)

) (D), (A (O, (B)

[Question ID = 3316][Question Description = 176_88_ETS_SEP22_S1_Q76]
1. 1 [Option ID = 13261]
2. 2 [Option ID = 13262]
3. 3 [Option ID = 13263]
4. 4 [Option ID = 13264]

77) Arrange the following in descending order of their switching times

(AY  Schotthy diode
(B)  Power transistor (Darlington)
(©)  IGET

(M Trine

(Choose the corvect answer from the options given below @
1y 0y, (D), (B), (A)
(2) (B, (C), (D), (A)
@3 (Cy (B, (I, (A)
(4 (I, (B, (), (A)

[Question ID = 3317][Question Description = 177_88_ETS_SEP22_S1_Q77]
1. 1 [Option ID = 13265]
2. 2 [Option ID = 13266]
3. 3 [Option ID = 13267]
4. 4 [Option ID = 13268]



78) Cansider the network given in the following fizure and arrange the following in their

increasing order of numbers :

(A)  Total numbers of branches

(B)  Total numbers of non touching loops

() Number of independent loops

(D) Number of nodes

Choose the correct answer from the options given below :
(1) (B, (0, (D), (A)

2 (B ), (A, (D)

(3) 1C), (B), (A, (1)

4 (C), (B), (D), (A)

[Question ID = 3318][Question Description = 178_88_ETS_SEP22_S1_Q78]
1. 1 [Option ID = 13269]
2. 2 [Option ID = 13270]
3. 3 [Option ID = 13271]
4. 4 [Option ID = 13272]

79) The components of ¢lass D) amplifier are given below. Arrdngs these in order of their
use from input towards cutput :

Ay  Amplifier

By  Comparator
(C)  Sawtooth generator
(D Low.pass filter

(Chaose the carrect answer from the options given below -
(1) (7, (0. (B, (A)
2y (), (A, (B (C)
@ (O (B, (A), (D)

4y (B, (0), (DY (A

[Question ID = 3319][Question Description = 179_88_ETS_SEP22_S1_Q79]
1. 1 [Option ID = 13273]
2. 2 [Option ID = 13274]
3. 3 [Option ID = 13275]
4. 4 [Option ID = 13276]

80) Arrange the following activities to properly runthe TYPE.4 Interrupt in 8086 micro

prOCEssOr:
(A}  Pushes the (S and [P value on stack for next instruction
(B)  Pushes the flag register on the stack

(7 Reset TF and IF

(D) Gets the (!5 value for start of interrupt service procedure

Choose the correét answar fram the options given below :
(0 (A (B), (D), ()
(2 (0, (B), (0, 1)
@) (B0, (), ()

) (D), (©), (B), (A)



[Question ID = 3320][Question Description = 180_88_ETS_SEP22_S1_Q80]
1. 1 [Option ID = 13277]
2. 2 [Option ID = 13278]
3. 3 [Option ID = 13279]
4. 4 [Option ID = 13280]

81) (lompare the IC loge families based on their rise time in asconding order

Ay MECL
By OCMOS
'y Low power schotthy TTL

(M PECL

(*hoose the correct answer from the options given below :

(1) (1), (A). (O, (B)
2y (B, 0h (A (D)
(3) (), (B, (D, (A)

) (B), (D) (A, (D)

[Question ID = 3343][Question Description = 181_88_ETS_SEP22_S1_Q81]
1. 1 [Option ID = 13369]
2. 2 [Option ID = 13370]
3. 3 [Option ID = 13371]
4. 4[Option ID = 13372]

82) Arrange the following in ascending order of Molecular density in various regions of

ionpsphere :
A)  Fi Layer (B} Fu Layer
() D Layer {D) E Layer

Choose the eorrect answer from the options given bolow :

(=

(1) {A), (1), (B, ()

(2) (B, (0, (D), (A
@3y (B, (A) (D), (C)
(4) {A). (8. (D, ()

[Question ID = 3322][Question Description = 182_88_ETS_SEP22_S1_Q82]
1. 1 [Option ID = 13285]
2. 2 [Option ID = 13286]
3. 3 [Option ID = 13287]
4. 4 [Option ID = 13288]



83) Arrange the following in decressing order of the noise generated by them :

(A) Diode (B) Transisior

(") Avalanche photo diode {0y FET

Choose the correct answer from the options given below -

(1 (0, (B, (), (A)
(2) (0, (8, (A), (Dy
) (B (0 A, (DY
(4) (B, (C), (D, (A)

[Question ID = 3323][Question Description = 183_88_ETS_SEP22_S1_Q83]
1. 1 [Option ID = 13289]
2. 2 [Option ID = 13290]
3. 3 [Option ID = 13291]
4. 4 [Option ID = 13292]

84) Arrange the following in terms of their dielectric strength in ascending order :
{A) Bakelite
(B) Mien
(C)  Paper (impregnated)

Dy Teflom

(*hoose the correct answer from the options given below :

(D, (A, (B), {C)

2y (A (C), (DY, (B)

(3 (A (B, (O), (N

(4 (B, (A (), (D)
[Question ID = 3324][Question Description = 184_88_ETS_SEP22_S1_Q84]
1. 1 [Option ID = 13293]
2. 2 [Option ID = 13294]

3. 3 [Option ID = 13295]
4. 4 [Option ID = 13296]

85) Arrange the following thermal sensors in ascending order of their cost for an
apphication :
(A)  Thermocouple
(B) Thermistor
() Resistance Tempernture Detector (RTD)

(D IR Photodiode

Choose the correct answer from the options given below :

(0, 8, A My
(2 (A (1), (C), (D
(3)  (B) (A) (D), (C)
)y (B, (AL (@), (D)

[Question ID = 3325][Question Description = 185_88_ETS_SEP22_S1_Q85]
1. 1 [Option ID = 13297]
2. 2 [Option ID = 13298]



3. 3 [Option ID = 13299]
4. 4 [Option ID = 13300]

86) For JFET and MOSFET, consider the following statements-:
(A MOSFET ig a voltage controlled capacitor
(By BT is slower than FET
() Input impedance of MOSFET is greater than JFET
(DY Leskage currents are zero in FET

(E)  MOSFET are slower that JFET

(*hoose the eorrect answer from the options given below :

(1) (AL (B) and (") only

2) (A), (B) and (1)) anly

{3 (), (C) and (D) only

(4)  (B) and (E) anly
[Question ID = 3326][Question Description = 186_88_ETS_SEP22_S1_Q86]
1. 1 [Option ID = 13301]
2. 2 [Option ID = 13302]

3. 3 [Option ID = 13303]
4. 4 [Option ID = 13304]

87) Given bulow are two'statémerits ©

Sttement [ ¢ Turbo codes exhibits performance, in terms of bit error probability,
that 1s very close to the Shannon it snd can be efficiently

implemented for high speed use

Statement 11 :  Convolutional codes provide worst performance in noisy channgls

where a high proportion of the bits are in error

In the Light of the above statements, choose the correct answer from the options
given

helow

(1) Both Statement | and Statement 1l are troe

(2) Both Statement | and Statement 11 are false

{3)  Statement | is true but Statement I i& false

{4)  Statement | is folse but Statement 1 is true
[Question ID = 3327][Question Description = 187_88_ETS_SEP22_S1_Q87]
1. 1 [Option ID = 13305]
2. 2 [Option ID = 13306]

3. 3 [Option ID = 13307]
4. 4 [Option ID = 13308]



88)

Given below are two statements

Statement 1:  In proportional eontrol, the achuating signal for the control action in

a pantrol system is proportional to the error signal
Statement Il It is desirable that control system be over damped for the point of

view of quick response

In the light of the above statements, choose the correct answer from the options given

below -
(1) Both statement I and Statement 11 are true
(2) Both statement | and Statement 1 are false

(3) Statement I is true but Statement 11 15 false

) Statement 1 15 falze but Statement [1is true

[Question ID = 3328][Question Description = 188_88_ETS_SEP22_S1_Q88]
1. 1 [Option ID = 13309]
2. 2 [Option ID = 13310]
3. 3 [Option ID = 13311]
4. 4 [Option ID = 13312]

89)

CGiven below are two statements ; (ne 18 labelled ns Assertion A and the other is
labelled as Reason R -

Assertion (A): The biggest advantage of using a PROM as a programmable logic
device is that its design can be changed and modified rapidly.

Reason (R) The PROM can generate any possible logic function of mput

variahles hecause 1t generates every possible AND product term.

In the light of the nbove statements, choose the correct answer from the options given

balow -

(1y  Both (A) and (H) are true and (R) is the correct explanation of (A)
{2)  Both (A) and (R) are true but (R) 18 not the correct explanation of (A)
[E3) (A) 18 true but (R) 1s false

) (A)isnot false but (R) i5 true

[Question ID = 3329][Question Description = 189_88_ETS_SEP22_S1_Q89]
1. 1 [Option ID = 13313]
2. 2 [Option ID = 13314]
3. 3 [Option ID = 13315]
4. 4 [Option ID = 13316]



90) Given below are two statements @ One is lnbelled as Assertion A and the other is

labelled as Reason R -

Assertion {A): Power MOSFETs have a positive temperature coefficient, which

combats the possibifity of thermal runaway

Redson (R) @ Negative temperature coefficient results in decreascd level of
registance with increase in tempernture and  caoses thermal

runaway

In the light of the above statements, choose the correct answer from the options given
below -

{1)  Both (A) and (R) are true and (R) is the correct explanation of (A)
{(2) Bath (A) and (B) are true but (K) is not the correct explanation of (A)
(3) (A} is true but (R) is false

{4) (A) is false but (R) 15 true

[Question ID = 3342][Question Description = 190_88_ETS_SEP22_S1_Q90]
1. 1 [Option ID = 13365]
2. 2 [Option ID = 13366]
3. 3 [Option ID = 13367]
4. 4 [Option ID = 13368]

Topic:- 088_PARTB_S2

1

Read the following paragraph and answer the five questions that follow

The internet of things (107s) and data analytics are the most significant emerging
tochnologies in rocent vears that have a disruptive and transformational effect to
every industry around the world. The 10T is a technology digitizing the physical
world and 18 a prominent driver to the fourth industrial revolution (IR) that will have
the impacts across the business and industry continuum around the world. Business
executives and informed citizons are positively anticipating of the fourth IR and
digitnl revolution with low impacts on employments, Applving 1OT in to realm of our
lives opens-up a host of new opportunitics and challenges for consumers, enterprise
and Government, I0T products and services enable improvements in productivity
and time to market and ereate thousands of businesses and millions of jobs, Our livies
are improved but at the cost of higher energy consumption that directly impaets our
environment.

Which of the following 1s not used as a security protocols

(1) MAC 802154
(2} BLOWPAN
{4) RPL

(1) XMPP

[Question ID = 3344][Question Description = 191_88_ETS_SEP22_S1_Q91]
1. 1 [Option ID = 13373]
2. 2 [Option ID = 13374]
3. 3 [Option ID = 13375]
4. 4 [Option ID = 13376]



2) Read the following paragraph and answer the five quostions that follow

The internet of things (107s) and datn analytics are the moest significant emerging
tethnologies in recont years that have a disruptive and transformational effect to
every industry around the world. The 10T i= a technology digitizing the physeal
world and 1= a prominent driver to the fourth mndustrial revolution (IR) that will have
the impacts across the business and mdustry continuum around the world. Business
expeutives and informed citizens are positively anticipating of the fourth IR and
digital revolution with low impacts on employments. Applying 10T in to redalm of our
lives opens-up & host of new opportumities and challenges for consumers, enterprise
and Government, 10T products and services enable inprovements in productivity
and time to market and create thousands of businesses and millions of jobs, Our lives
are improved but at the cost of higher energy consumption that directly impacts our
environment.,
Which of the following is most commonly used [OT standards for Medium Access
Contral (MAC)
(1) IEEE 802.15.4
(2) IEEE 802.11ah
(@ IEEE 2413
(1) IEEE 11073

[Question ID = 3345][Question Description = 192_88_ETS_SEP22_S1_Q92]

1. 1 [Option ID = 13377]

2. 2 [Option ID = 13378]

3. 3 [Option ID = 13379]
4. 4 [Option ID = 13380]



3) Read the following paragraph and answer the five questions that follaw :

The internet of things (107s) and datn analytics are the moest significant emerging
tethnologies in recont years that have a disruptive and transformational effect to
every industry around the world. The 10T i= a technology digitizing the physeal
world and 1= a prominent driver to the fourth mndustrial revolution (IR) that will have
the impacts across the business and mdustry continuum around the world. Business
exeputives and informed eitizens are positively anticipating of the fourth IR and
digital revolution with low impacts on employvments. Applying 10T in to redalm of sur
lives opens-up & host of new opportumities and challenges for consumers, enterprise
and Government, 10T products and services enable improvements in productivity
and time to market and create thousands of businesses and millions of jobs, Our lives
are improved but at the cost of higher energy consumption that directly impacts our

environment,

Match List [ with List I1:

List 1 List 11
Technologies for 10T Definitions
(A) Sensors (1) Analytieal tools that improve the
ability to deseribe phenomenons
iB) Networks (1) Commonly accepted prescriptions
tor action
() Augmented intelligence (I A  device that generates an
eloctronic signal from a physical
condition
(D) “Standards {(IV} A mechanism for communicating

an eleetronic signal

Choose the correct answer from the options given below :

(1) (AR, A3, (O, (DR(IVy

(2) (AR, (By-(IV), (C)-(10), (10)-(1)

(@) (AL, (B)-(IV), (C)-(1), (D)-(1D)

(4 (A, (B)-ch, (C3-(1V), (D)-(110)
[Question ID = 3346][Question Description = 193_88_ETS_SEP22_S1_Q93]
1. 1 [Option ID = 13381]
2. 2 [Option ID = 13382]

3. 3 [Option ID = 13383]
4. 4 [Option ID = 13384]



4) Read the following paragraph and answer the five questions that follow

The internet of things (I0Ts) and data analytics are the most signifieant emerging
technologies in recent years that have a disruptive and transformationn] effect to
everv industry around the world. The 10T is a technology digitizing the physical
world and 15 a prominent driver to the fourth industrial revelution (IR) that will have
the impacts acroge the business and industry continuum around the world. Business
exeeutives and mformed eitizens arve pesitively anticipating of the fourth IR and
digital revolution with low impacts on employments; Applying 1OT in to realm of our
lives opens-up 2 host of new opportunities and challenges for consumers. enterprise
and Government, 10T products and services enable improvements in productivity
and time to market and create thousands of businesses and millions of jobs. Our lives
are improved but at the cost of higher énergy consumption that directly impacts our

environment.

Arrange the following 10T technologies in ascending order of their wircless range -

(A)  Near-field communication
(B) Wi-It
() Blue tooth low energy

(D) Cellular networks

Choose the correct answer from the options given below :

) (AL (B, (), (I

) (A0, (B), (D)

@3y (B (A, (O), (D)

(4} {B), (C), (A), (D)
[Question ID = 3347][Question Description = 194_88_ETS_SEP22_S1_Q94]
1. 1 [Option ID = 13385]
2. 2 [Option ID = 13386]

3. 3 [Option ID = 13387]
4. 4 [Option ID = 13388]



5) HRead the following paragraph and answer the five questions that follow -

The internet of things (I0Ts) and data analytics are the most significant emerging
technologies in recent yoars that have a disruptive and transformational effect to
every industry around the world. The 10T is a technology digitizing the physical
world and 15 a prominent driver to the fourth industrial revelution (IR) that will have
the impacts acrogs the buginess and industry continuum around the world. Business
exceutives and informed eitizens arve pesitively anticipating of the fourth IR and
digital revolution with low impacts on employments; Applying 1OT in to realm of our
lives opens-up 2 host of new opportunities and challenges for consumers. enterprise
and Government, [OT products and services enable improvements in productivity
and time to market and create thousands of businesses and millions of jobs. Our lives
are improved but at the cost of higher énergy consumption that directly impacts our

environment.

Which of the following communication technologies has highest data rate?

(1 Mi-Wi
2) 44
(3) LoHa

)  Weightless -W

[Question ID = 3348][Question Description = 195_88_ETS_SEP22_S1_Q95]
1. 1 [Option ID = 13389]
2. 2 [Option ID = 13390]
3. 3 [Option ID = 13391]
4. 4 [Option ID = 13392]

Topic:- 088_PARTC_S2



1)

Read the following paragraph and answer the guestions from 896-100

A digital counter is a set of flipflops whose states change in response to the pulses
applied at Input. Counters can be asynchronous counters or synchronous counters. A
counter 1s an example of o state machine; the number of states is called the modulus:
Two basic types of state machines are the Moore and the Mealy. In Moore machine,
the comhinational logic 15 a gate array with outpuis that determine the next state of
the flip-flops in the memory. For Mealy machine, the present state affects just as in
Moore machine but in addition, the inputs also affect the outputs,

The components of a synchronous counter ave given below. Arrange these in order of
their occurrence tor design of synchronous counters

(A)  Next-stato table

(B)  Flip-flop transition table

() Karnaugh maps

(D) State dingram

(E)  Logic expressions for flipflop inputs

Chonose the correct answer from the options given below

(1) (B, (AL (), (D), ()
(2) {0, (A, (B), (B). (D)
(1) (D), (A, (B) (), (E)
(4 (AL (O), (E), (B). (D)

[Question ID = 3349][Question Description = 196_88_ETS_SEP22_S1_Q96]
1. 1 [Option ID = 13393]
2. 2 [Option ID = 13394]
3. 3 [Option ID = 13395]
4. 4 [Option ID = 13396]

2)

Head the following paragraph and answer the questions from 96-100

A digital eounter 1s a set of flipflops whose states change in response to the pulses
applied at Input. Counters can be asynchronous counters or synchronous counters. A
counter 1s an example of o state machine; the number of states 1s called the modulus.
Two basic types of state machines are the Moore:and the Mealy. In Moore machine,
the comhinational logic is a gate array with outputs that determine the next state of
the flip-flops in the memory. For Mealy machine, the present state affect= just as in
Moore machine but in addition, the inputs alsn affet the outputs.

A hinary ripple counter 1s required to count upto 16, 3830, If the clock frequency is
21482 MHz, the number of flip-flops required and frequency of the output of MSB

reapectively are
(1) 28 500Hz
(2) 14, 260'H=

(3 28,250 Hz
{4) 14, 500 Hz

[Question ID = 3350][Question Description = 197_88_ETS_SEP22_S1_Q97]
1. 1 [Option ID = 13397]
2. 2 [Option ID = 13398]
3. 3 [Option ID = 13399]
4. 4 [Option ID = 13400]



3)

Read the following paragraph and answer the questions from 96-100

A digital counter is a set of flipflops whose states change in response to the pulses
applied at Input. Counters can be asynchronous counters or synchronous countérs. A
counter 1s an example of o state machine; the number of states is called the modulus.
Two basic types of state machines are the Moore and the Mealy. In Meore machine,
the comhinational logic 15 a gate array with outpuis that determine the next state of
the flip-flops in the memory. For Mealy machine, the present state affects just as in
Moore machine but in addition, the inputs also affect the outputs,

Which of the following stutements is correct about counter?
(1) Design and implementation of asvnchronous counter becomes tedious and
complex as number of states increases

(2) The main drawback of Asynchronous counters 15 their low speed as clock 1s
propagated through a number of flip-flops

(3) Svnchronous counter fhp-flops can never be clocked simultancously

(4) A counter in which the maximum number of states can be changed is called

full modulus counter

[Question ID = 3351][Question Description = 198_88_ETS_SEP22_S1_Q98]
1. 1 [Option ID = 13401]
2. 2 [Option ID = 13402]
3. 3 [Option ID = 13403]
4. 4 [Option ID = 13404]

4)

Head the following paragraph and answer the questione from Y96-100

A digital counter 1s a set of flipflops whose states change in response to the pulses
applied at Input. Counters can be asynchronous counters or synchronous counters. A
counter 1s an example of a state machine; the number of states 1s called the modulus.
Two basic types of state machines are the Moore and the Mealy. In Moore machine,
the comhinational logic is a gate array with outputs that determine the next state of
the flip-flopz in the memory. For Mealy machine, the present state affects just as in
Moore machine but in addition, the inputs al=o affect the outputs,

Ina 4-bit asynchronous binary counter, each D) flip-flop is negative cdge-triggored
and has a propagation delay for 10 nanoseconds. What i the highest frequency

allowed for the counter to aveid problems due to propagation delay?

(1) 40 MH=
{2} B0OMHz
(@) 25 MHz
(4) 50 MHz

[Question ID = 3352][Question Description = 199_88_ETS_SEP22_S1_Q99]
1. 1 [Option ID = 13405]
2. 2 [Option ID = 13406]
3. 3 [Option ID = 13407]
4. 4 [Option ID = 13408]



5)  Read the following paragraph and answer the guestions from 96-100

A digital counter is a set of flipflops whose states change in responze to the pulses
applied at Input. Counters can be asynchronous counters or synchronous counters. A
counter is an example of o state machine; the number of states is called the modulus:
Two basic types of state machines are the Moore and the Mealy. In Meore machine,
the comhinational logic 1s a gate array with outpuis that determine the next state of
the flip-flops in the memory. For Mealy machine, the present state affects just as in
Moore machine but in addition, the inputs al=o affect the outputs,

Which of the following statements is not correct ahout Glitch?

(1) ‘Strobing is advizable to eliminate glitch
{2)  Glitch causes more problems with synchronous  counters than  with
asynchronous counters
3)  Agltch s a voltage spike of short duration usually unwanted
4y A glitch i= caused by behavipur of the logie circuit and can oecur in both
sequential as well as combinational eircuits
[Question ID = 3353][Question Description = 200_88_ETS_SEP22_S1_Q100]
1 [Option ID = 13409]
2 [Option ID = 13410]

3 [Option ID = 13411]
4 [Option ID = 13412]

A w N =

Topic:- 22 GP_29SEPT22_SH1_S2_A

1)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

Vo Types Of Batteries Sold (in thousands)
4AH TAH J2AH 35AH 55AH

2015 |75 144 114 102 108
2016 20 126 102 24 126
2017 96 114 75 105 135
2018 105 20 150 a0 75
2019 50 73 135 75 a0
2020 105 &0 165 45 120
2021 115 85 160 100 145

What was the approximate percentage increase in the sales of 35AH batteries in 2027 compared to that
in 20157

1.28 %
2:31 %
3.33%
4,34 %



fafeRaa arfeer & a9 2015 § 2021 9 & SRIH TH DUAT GRT G DI T8 [A1HA WPR DI el
(@R ®) & faw! - siws fRu v &1 59 aifersT & siiws! & YR W Uik w4l & I S

Tl 7t 9 - aR fEwl

- faep] &1 715 Sl & PR (89K 1)

AUTH | 700 3200|350 0T | 5500

2015 75 144 114 102 108
2016 a0 126 102 g4 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2019 | 90 75 135 75 90
2020 105 a0 165 45 120
2021 115 85 160 100 145

2015 @I gorl H 2021 3 55 U9 syl & fadl J ey viosd gls w4 2

3

1.28 %
2.31
3.33
4,345

33 fe

3

[Question ID = 4374][Question Description = 101_81_GP6_SEP22_S2_QO01]
1. 1 [Option ID = 17493]
2. 2 [Option ID = 17494]
3. 3 [Option ID = 17495]
4. 4 [Option ID = 17496]

2)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 te 2021.

Year-wise Sale of Batteries

onr Types Of Batteries Scld (in thousands)
4AH TAH 32AH 354H 55AH

2015 (75 144 114 102 108
2016 |90 126 102 a4 126
2017 D6 114 75 105 135
2018 105 80 150 a0 75
2019 |90 73 135 i3 S0
2020 105 &0 165 45 120
2021 115 85 160 100 145

The total sales of all the seven years is maximum for which type of battery?

T.44AH
2. TAH
3. 32AH
4. 35AH



Fafafaa oiftrer & 9 2015 § 2021 99 & R T U gRT Ot o 78 [Afts yor ot defal
G9R ®) & 9! - s fRw e &1 53 aiferer & siiws! & YR R " vyl & IO S

=il @ 9 - R fawl
o ] &1 713 Sl & UK (B9R 1)
A4TUUd | 7UULd | 3200 | 35U UG | 550 UH

2015 | 75 | 144 | 114 102 108
2016 | 90 | 126 | 102 84 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2019 | 90 75 125 75 90
2020 | 105 | 80 165 45 120
2021 | 115 | 85 160 100 145

S 91 gid a1 H [od UBR @1 dell @ oo am| gaii® U 7

1.4400d
2.700d
3.320TE4
4,358

[Question ID = 4375][Question Description = 102_81_GP6_SEP22_S2_Q02]
1. 1 [Option ID = 17497]
2. 2 [Option ID = 17498]
3. 3 [Option ID = 17499]
4. 4 [Option ID = 17500]

3)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

onr Types Of Batteries Scid (in thousands)
4AH TAH 32AH 354AH 55AH

2015 |75 144 114 102 108
2016 (B0 126 102 a4 126
2017 |96 114 75 105 135
2018 105 20 150 90 75
2019 |90 75 133 75 20
2020 |105 B0 165 45 120
2021 115 85 160 100 145

What is the difference in the number of 354H batteriessold in 2016 and 20207

1.24000
2..28000
3. 35000
4. 38000



FafeRas aferer & a9 2015 & 2021 90 & RIE TH DUAT gRT G0 D T8 [QIHT TPR T qchal
(@R ®) & 3t - aws fAw v &1 53 aiftreT & siws! & YR W U= Uyl & SR difere -

Seiigl @1 a8 - aR 6wl
atf T @1 713 Sl & UK (B9R 1)
4T | 7UUH | 3280 | 35T UG | 550 TH

2015 | 75 144 | 1314 102 108
2016 | 90 | 126 | 102 84 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2019 | 80 75 135 75 90
2020 | 105 | &0 165 45 120
2021 | 115 | 85 160 100 145

¥ 2016 3R 2020 7 35 U TH A=feT @ fas g S W AR E

1. 24000
2..28000
3. 35000
4. 38000

[Question ID = 4376][Question Description = 103_81_GP6_SEP22_S2_Q03]
1. 1 [Option ID = 17501]
2. 2 [Option ID = 17502]
3. 3 [Option ID = 17503]
4. 4 [Option ID = 17504]



4)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

onr Types Of Batteries Scid (in thousands)
4AAH TAH 32AH 35AH 55AH

20815 |75 144 114 102 108
2016 (80 126 102 24 126
2017 96 114 75 105 135
2018 105 80 150 a0 75
2019 |90 73 135 i3 30
2020 [105 60 165 45 120
2021|115 85 160 100 145

The percentage of 4AH batieries sold in a given year to the total number of batteries sold in that same
year was maximum in the year:

1..2007
2.2018
3.2018
4, 2020

fFafafaa aifter # 9 2015 ¥ 2021 9@ & ERE TS Al gRT fawt o 715 fAfis yor ot acial
@R H) T fawt - s fer U §1 59 aifere & Siesi & YR R Ui wall & Swx 4T

=il @t ad - ar fawl
o %1 ®1 15 92l © WO (B9R 1)
AU |70 (3200|350 0T | 5500
2015 75 144 114 102 108
2016 | 90 | 126 | 102 84 126
2017 Go 114 75 105 135
2018 | 105 | 90 150 90 75
2019 =] 75 135 P ao
2020 105 a0 165 45 120
2021 115 85 160 100 145

il feu T o & 92t o) 9wl &) oo 9 & 91y 94l 9d § T @ 7 4 U ug SR @ ufowa g
T Hfw a7 7

1,2817
2,2018
3.201¢
4, 2020

[Question ID = 4377][Question Description = 104_81_GP6_SEP22_S2_Q04]
1. 1 [Option ID = 17505]
2. 2 [Option ID = 17506]
3. 3 [Option ID = 17507]
4. 4 [Option ID = 17508]



5)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

Genr Types Of Batteries Sold (in thousands)
4AH TAH 3ZAH 35AH 55AH

2015 |75 144 114 102 108
2016 (B0 126 102 24 126
2017 196 114 75 105 135
2018 |105 30 150 90 75
2019 |90 73 135 75 a0
2020 |105 60 165 45 120
2021 115 85 180 100 145

In case of which type of battery there was a continuous decrease in sales from 2015 to 20207

1.448H
2. TAH
3.32AH
4. 35AH

fFafefag arferer & ad 2015 | 2021 96 & R TP DUt g1 At @t 78 fAfud yer @t el
@9R ®) ¥ 9! - s fRu e &1 53 aiferer & sies! & MyR W = vyl & IO S

gzivyf @l 9 - ar 6 :

- ] &1 715 Scidl & UK (89K 1)
4UEd | 7UUd |3200d (350 TH | 55U LA

2015 | 75 | 144 | 114 102 108
2016 | %0 | 126 | 102 84 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2019 | 90 75 135 75 90
2020 | 105 | &0 165 45 120
2021 | 115 | 85 160 100 145

a8 2015 ¥ 2020 1@ 69 UEHR B 93] D [9eb] H F¥ay FRige g4t 7

1.40Ud
2.70Td
3.320UG
4.35U00g

[Question ID = 4378][Question Description = 105_81_GP6_SEP22_S2_QO05]
1. 1 [Option ID = 17509]
2. 2 [Option ID = 17510]



3. 3 [Option ID = 17511]
4. 4[Option ID = 17512]

Topic:- 22 GP_29SEPT22_SH1_S2_B

1)

Which scheme of Ministry of Education, Government of India, uses Artificial Intelligence to make learing
more personalised and customised, as per reguirements of the learners?

1. NEAT
2, NEET
3, SWAYAM
4 SWAYAN PRABHA

e HaTeE, YRG TIPR 3] B O dioF Tl B HEEeaIH & SgaR HWE 5] Hie dditas
S el s & & o BiH SfgH 1 Wi &l 8 7

.S LA

255

3, TEHH [SWAYAM )

4 IGUH UH] (SWAYAMPRABHA)

[Question ID = 4379][Question Description = 106_81_GP6_SEP22_S2_Q06]
1. 1 [Option ID = 17513]
2. 2 [Option ID = 17514]
3. 3 [Option ID = 17515]
4. 4 [Option ID = 17516]

2)
Upon completion of academic programmes (Graduation), what outcomes should the students have
attained?

1. Programme Education Objectives/ Programme outcomes
2. Lesson outcomes

3. Course guicomes

4, Unit/Chapter outcomes

H@IGIHS B (Wiad) & W e 0, [genieial of @7 uRemE urd giH =i ?

1. BRIHE 8T 3539 / BIUHE UNomH
2,918 giomE

3. 913 gRum

4, gy S uions

[Question ID = 4380][Question Description = 107_81_GP6_SEP22_S2_Q07]
1. 1 [Option ID = 17517]
2. 2 [Option ID = 17518]
3. 3 [Option ID = 17519]
4. 4 [Option ID = 17520]



3)
Given below are two statements, one is labelled as Assertion A and the other is labelled 35 Reason R

Assertion A: Teachers must encourage students to ask questions.
Reason R: Asking questions can create curiosity and develop passion for learning.
In light of the above statements, choose the most appropriate answer from the options given below

1. Beth A and R are correct and R is the correct explanation of A

2, Both A and R are carrect but R is NOT the correct explanation of A
3, A'is correct but R is not correct

4, A is not correct but R is correct

el @ RU g to of iy (A) IR g0 & ®RY (R) FET M@ ¢
A (a) : et =1 Al o1 v gg & o uieifed &< 9ifeul
@R (R) ; 0% OB 9 (o9 g il & SR {9 o o 3 [9e19d eidl 8
ST BYF| & TS & Hiied aeed 3 4 98 9w g ;

1. (A) 3R (R) G ¥E1 & SR (R), (A) $1 Hel SR 21

2, (A) 3R (R) T T8I & TR (R), (A) P He o0 81 6

3. (A) HEl € TR (R) eI 78I B
4 (A) W18 B UG (R) HRI B

[Question ID = 4381][Question Description = 108_81_GP6_SEP22_S2_Q08]
1. 1 [Option ID = 17521]
2. 2 [Option ID = 17522]
3. 3 [Option ID = 17523]
4. 4 [Option ID = 17524]

4)
Which of the following miodel is used for development of e-content for MOOCs on SWAYAM?

1. Four Quadrant
2. Two Quadrant
3, Flipped Classraom
4, Bloom's Taxonomy

TEUH (SWAYAM) OT 58 (MOOCs) & [0 S-1q9gasd & (9@ & 8 F¥ H d [od Hisa oI uai eldl 8 7

1. AR EgsE

PR

3, [T @an

4, TH ®I G fag

[Question ID = 4382][Question Description = 109_81_GP6_SEP22_S2_Q09]
1. 1 [Option ID = 17525]
2. 2 [Option ID = 17526]
3. 3 [Option ID = 17527]
4. 4 [Option ID = 17528]



5)
In erder to develop a video for MOOC, how much portion of some copyrighted video is allowed to be

used as'per the fair use guidelines?

. Upto 10% or 10 minutes, whichever is less,
. Upto 10% or 3 minutes, whichever is less,
. Upto 209 or 10 minutes, whichever is less,

Ju5 LD PO -

. Upto 30% or 3 minutes, whichever is less,

& (MOOC) & foe ®15 difsdl &9 & o, 3faa v feenfass & uR, B ufafoanfieia difsar
@ [tha (894 &1 WaR & @1 Al 8 ?

.10% T, 41 10 e, o T &9 811

10% @, 47 3 e S i ea gl

. 20% T, T1 10 e Z o Bl
4,30% o@, 77 3 e, o S ea 8l

LD M -

[Question ID = 4383][Question Description = 110_81_GP6_SEP22_S2_Q10]
1. 1 [Option ID = 17529]
2. 2 [Option ID = 17530]
3. 3 [Option ID = 17531]
4. 4 [Option ID = 17532]

6)
When the subjects of a research change or improve their behaviour, not due to changes in experimental

stimulus, it is called

1. The Hawthorne effect
2, The Glenn effect

3. The Fischer effect

4, The Kerlinger effect

wa fodl 2y @ Tqudl & asR o uitacy 91 YUR WANTES I Ue| H URGa- & R0 961 &idl &, al 34
el Sl & -

1. 51aYH TUIE
FRCE RG]

3, fheR T1e
4, HRUAGR WHId

[Question ID = 4384][Question Description = 111_81_GP6_SEP22_S2_Q11]
1. 1 [Option ID = 17533]
2. 2 [Option ID = 17534]
3. 3 [Option ID = 17535]
4. 4 [Option ID = 17536]



7)
The advantages of research based on field experiments are:

A. Astrong external validity

B. Subiecis behave normally and naturally.

C. The experiment takes place in a natural setting.

D. Generation of primary data

E. Non-requirement of elaborate logistics

Choose the correct answer from the options given below;

1.4 Band Conly
2.B, Cand D only
3,C Dand Eonly
4 A CandEonly

& TERTl OR SR DY & A E -
A, T g §1al 9yl |
8. fawm W oiR warifa® 9 9 a98R i ¢
C. T UTgia® e | Bl 8l
D. UHiH® Hiws| @l go- |
E, forga HR-0F @1 Saxgedl T8l eidl|
i fou e fawed! & @ 8 oW A -
1. a0 A, B AR C
2, &9d B, C MR D

3. HaAC, D ARE
4 Had A C3IRE

[Question ID = 4385][Question Description = 112_81_GP6_SEP22_S2_Q12]
1. 1 [Option ID = 17537]
2. 2 [Option ID = 17538]
3. 3 [Option ID = 17539]
4. 4 [Option ID = 17540]

8)
Hypothesis, that is alternative to null hypothesis, is represented as

1. Hg
2.Hy
3, Han
4 H.p



gitee, Sl Y g el o] famed o, @] GXI9 9l &

1. Hg
2.Hy
3, Han
4, Hii‘J

[Question ID = 4386][Question Description = 113_81_GP6_SEP22_S2_Q13]
1 [Option ID = 17541]
2 [Option ID = 17542]
3 [Option ID = 17543]
4 [Option ID = 17544]

A w N =

9)
What is SCOPUS?

1. Software to prepare Ph.D thesis

2, Database containing abstracts and citations of academic journals
3. Agency to fund research and development

4, Plagiarism checking software

THI9H (SCOPUS) T & 7

1, Ui 31 Ty Y TR oY 91 AlgediR

2. SEeY foed e theel $ SR W dsvied &
3, 719 3R 9o & fawume o fog i

4, Field® R $ 9 B3 ael QiFeaty

[Question ID = 4387][Question Description = 114_81_GP6_SEP22_S2_Q14]
1 [Option ID = 17545]
2 [Option ID = 17546]
3 [Option ID = 17547]
4 [Option ID = 17548]

A w N =

10)
The Social Science research which is data-based, has been associated with

. Authoritarian mode
. Positivist philosophy
. Network theory

S % 5 I L W

. Phehemenology

gg gHIee o 91y, S iesl-Yid sl g, Ruiad 48 & -

1. G OEid
2. UT&aE] 53
3, Jead g

4, Teggeq) fagm

[Question ID = 4388][Question Description = 115_81_GP6_SEP22_S2_Q15]
1 [Option ID = 17549]
2 [Option ID = 17550]
3 [Option ID = 17551]
4 [Option ID = 17552]

A w N =



11)
The modern-communication revolutien is propelled by

1. Cold war propaganda

2, International commerce

3, Technological convergence
4, Change in political systems

YD GG Hifd aHs gRI AN & 7
1. 9019 4 @1 Uigirsl
2, 3iTRIBTY Frivrsd

3, e g HEm
4, IeTcE gone | 9igas

[Question ID = 4389][Question Description = 116_81_GP6_SEP22_S2_Q16]
1 [Option ID = 17553]
2 [Option ID = 17554]
3 [Option ID = 17555]
4 [Option ID = 17556]

A w N =

12)
Effective classroom communication will enable

A, Efficient teaching

B. Interest in learming

C. Minimal assessment

D. Interaction between teachers and students

E. Teacher-centric behaviour

Choose the correct answer from the options given below;

1.4, B and Canly
2.8, C, DandE only
3,C, Dand E only
4 A Band D only



A H UHTE] TR [HEE HEH B ;
A, YT ST

8. Urg- H 3l

C. 3feqdd Hedia

D. TRrarnt <R faenivhal & di 2=g1=g f9eam
E. HLI®- Higd S9a8R

e fou e fawed! 7 4 W1 S T ;

1.FAAA, B AR C
2.9 E,C, DIARE
3,WIAC, D ARE
4,FIAA, B AR D

[Question ID = 4390][Question Description = 117_81_GP6_SEP22_S2_Q17]
1. 1 [Option ID = 17557]
2. 2 [Option ID = 17558]
3. 3 [Option ID = 17559]
4. 4 [Option ID = 17560]

13)
Which of the fallowing are barriers to understand the communicated messages?

A. Emotional guotient

B. Jargon

C. Persanal space

D. Pre-judgemient

E. Cultural background

Choose the correct answer from the options given below;

A, Band Conly
.B, D and E only
.C, D and E anly
.B, Cand D only

S % 5 I L W



FrEd H ¥ B 4 TRiha a3l o §HgH H SRIYD § 7
A, TagTere -l

B. 3IE

C. gD W

D. ga-oig

E. Wieplci gE3{H

74 T4 7 f9eped] 5 & Wel STR 4 ;

1.FAAA, B AR C
2, #GE B, DIANE
3,WaAC, D ARE
4, FFAB, C AR D

[Question ID = 4391][Question Description = 118_81_GP6_SEP22_S2_Q18]
1. 1 [Option ID = 17561]
2. 2 [Option ID = 17562]
3. 3 [Option ID = 17563]
4. 4 [Option ID = 17564]

14)
Given below are two statements

Statement I: Knowledge is a form of cultural capital for all practical purposes,
Statement II: Communication media make cultural capital a form of illimitable property.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement |l are correct

2, Both Statement | and Statemenit |l are incorrect
3, Statement | is correct but Statement || is incorrect
4 Statement | is incorrect but Statement |l is correct

e RUTEE:

Y - | §F9 o sraeTie UaieH| & O Oisia® gol &1 U 9 8l

Y - || : TN HSy, YEeiam el ] U6 WeR $1 it grdid 5 8
UL HYH| & ATID | e 9ol H ¥ Hel 3w g

1. 0YF | 3R || BF TR B
2. FYA | 3R 1 EF TEd B |
3. P | W) &, g @y I Taa Bl
4, YT 1 T4 & , fooq ®YA 1| GEl B

[Question ID = 4392][Question Description = 119_81_GP6_SEP22_S2_Q19]
1. 1 [Option ID = 17565]
2. 2 [Option ID = 17566]
3. 3 [Option ID = 17567]
4. 4 [Option ID = 17568]



15)
Match List | with List Il

List |

List I

Concept of presentation

Characteristic

A, Text

|. Order of signification

B. Discourse

Il, Subjective invention

C. Connctation

Ill. Micro data

D. Myth

IV. Macro exchange

Choose the carrect answer frem the options given below:

TA-LB-1LC= LD~V
ZA-ILB=lLC=-IV, B~
SA-ILB-MC-LD-1
4A-NB-LC-1L,B=N

! -1 I T -1 H AT BT

EE

BESRIEE g R EHIE)

A, TS I. AR@IB 0l BT B
B, st 11, STH-TE I

C. oY I1l. BIShI-SeT

D. fHy® V. S8 3MaH-HarH
A feu e faed! # ¥ W8l ST g

TA-LB-1L,E=l, D-IV
2ZA-1LBANC- IV, B=
LA-NLB=-IMC-L B=1
4A8-WEB-LC-IL D=l

[Question ID = 4393][Question Description = 120_81_GP6_SEP22_S2_Q20]

1. 1 [Option ID = 17569]
2. 2 [Option ID = 17570]
3. 3 [Option ID = 17571]
4. 4 [Option ID = 17572]




16)
Choose the set of numbers, similar to the set (31, 19, 41) out of the following:

A, (27, 29, 47)
B.[23; 34, 45)
C. (29, 16, 41)
D. (29, 17, 37)
E, (23, 37, 49)
Choose the correct answer from the options given below:;

1.4, Cand E only
2.A and B only
3,B and D only
4, D only

Fafciad vyl 4 O Wy (31,19.41) & §9H Y13 & §9=Y @) gH¢ -
A. (27, 29, 47)

B. (23, 34, 49)
C. (29, 16, 47)
D. (29, 17,37)
E. (23, 37, 49)
I fou ¢ fased & 4 W) SR g

1.Faa A CHRE
2, FaAA ANB
3, FAA B ARD
4,FFAD

[Question ID = 4394][Question Description = 121_81_GP6_SEP22_S2_Q21]
1. 1 [Option ID = 17573]
2. 2 [Option ID = 17574]
3. 3 [Option ID = 17575]
4. 4 [Option ID = 17576]



17)
Uniscramble the strings below to treate a meaningful word and then find the odd one out:

A, EIWNTR

B. UMRSME

C. PIGRSN

D. LCUQD

Choose the correct answer from the options given below:;

1. A only
2.B only
3. C only
4, D only

T f5u 710 47 @1 56 USR e fa el e 84 aul aguRid 1999 @ gé -
A EIWNTR

B. UMRSME

C, PIGRSN

0. LCUOD

e fu e fowed! 9 4 W S T ;

1. Fad A
2, FadE
3,HaA C
4, FaA D

[Question ID = 4395][Question Description = 122_81_GP6_SEP22_S2_Q22]
1. 1 [Option ID = 17577]
2. 2 [Option ID = 17578]
3. 3 [Option ID = 17579]
4. 4 [Option ID = 17580]

18)
What shall be the value when 0.07 is divided by 3507

1..0.0002
2.0.002
3.0.02

4, 0.00002

W4 0,07 @ 350 ° YT fohar Sa i &91 5 Ui g 7

1..0.0002
2.0.002
3.0.02
4,0.00002



[Question ID = 4396][Question Description = 123_81_GP6_SEP22_S2_Q23]
1. 1 [Option ID = 17581]
2. 2 [Option ID = 17582]
3. 3 [Option ID = 17583]
4. 4 [Option ID = 17584]

19)
Six persons wernt to a hotel for a dinner, Five of them spent Rs 150 each on their meals, while the sixth

person spent Rs 80 more than the average expenditure of all the six persons. What is the total money

spent by all the six persons?

1.9%06
2,959
3.1000
4,7001

BE @ U HieH & [T glew § oid &) S99 Ui ofgadl § 9§ UG 309 Hied WX 1150 T4 5l B
Tl Sol diad 941 9 diaaal & 9 9 9 380 9 94 o3l 8| 94 98 il grl & foa
Y U Ed &1 7S 7

1.3996
2.3999
3.% 1000
4.3 1001

[Question ID = 4397][Question Description = 124_81_GP6_SEP22_S2_Q24]

1. 1 [Option ID = 17585]
2. 2 [Option ID = 17586]
3. 3 [Option ID = 17587]
4. 4 [Option ID = 17588]

20)
The selling price of 30 fans is egual to the purchase price of 25 fans. What is the profit or loss in

percentage?

1. A gain of 1,5%%
2.4 loss of 15%
3. A loss of 152%

4. No gain, no loss

30 Ul 1 faeh] Hed 25 UGl o W16 Hed o &X0ak o | i Sl gl wiowe o fsa-l & 2

1. 162%31'3—[

2.15% % &
2

3. 163% gl

A AR Y

[Question ID = 4398][Question Description = 125_81_GP6_SEP22_S2_Q25]
1. 1 [Option ID = 17589]
2. 2 [Option ID = 17590]
3. 3 [Option ID = 17591]
4. 4 [Option ID = 17592]



20 In Classical Square of Opposition, if 'Some S is P’ is given as true then which of the following could be
immediately inferred from it?
A, 'Some S is not P’ is false
B. 'Some S is not P is:true
C.'No Sis P'is false
D. “All SisP' is'undetermined
E. 'Some S is not P'is undetermined

Choose the correct answer from the options given below,

1.4 Cand D only
2,C, Dand E only
3.B, Cand D only
4 B and Conly

R & g a T S T8 S, P el &, ® dfe Te) aF T el Ol 9 H ¥ fEae! uas w9 1 gEd
g s gwa g ?

A BES PR e, Tad 8

B. WSS Pel 6, 9H &

C.®Ig S, PRI &, TTod &

D. s, P, feifa s

E B S, PAEl 8, UG 8

i g e faded! 5 & 981 9ok 4 -

1.®adA, CHRD
2. &40 C, D ARE
3, TIAE, C AR D
4 FIAR ARC

[Question ID = 4399][Question Description = 126_81_GP6_SEP22_S2_Q26]
1. 1 [Option ID = 17593]
2. 2 [Option ID = 17594]
3. 3 [Option ID = 17595]
4. 4 [Option ID = 17596]



22)
A fallacy in which the conelusion is stated or assumed within ene of the premises is known severally as:

A, Petitio Principil

B. Irrelevant Conclusion

C. Begging the Question

D. Fallacy of Compeosition

E, Circular argument

Choose the correct answer from the options given below:;

1.4, D and E anly
2.Cand Donly

3,B, Cand Eonly
4 A CandEonly

@3 av oy (ool (5aY @] U YR 999 & ¥4 & Adifq @iied oa) 7 & ud 9F 741 8 39
faftrs vl © F g I &

A, fafeRRm i

B, HUTHT® ey
C. AT TN

D. T B G6-21
E, gd G

1.3aAA, D IARE
2, HFAC IRD

3, &ad B, CARE
4, FAA CHRE

[Question ID = 4400][Question Description = 127_81_GP6_SEP22_S2_Q27]
1. 1 [Option ID = 17597]
2. 2 [Option ID = 17598]
3. 3 [Option ID = 17599]
4. 4 [Option ID = 17600]

23)
Analogical Arguments are:

1. Deductive in nature

2, Inductive in nature

3. Valid arguments but fallacious
4 Invalid arguments



TS O §

1. FTHEE 9dia Tl
2. FTHS Ui o0t
3. 3% g TI9gad ad
4, 39y db

[Question ID = 4401][Question Description = 128_81_GP6_SEP22_S2_Q28]
1. 1 [Option ID = 17601]
2. 2 [Option ID = 17602]
3. 3 [Option ID = 17603]
4. 4 [Option ID = 17604]

24)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: According to Classical Indian School of Logic (Nyaya), it is desirable but net necessary to
offer an example in a syllegistic argument or inference.

Reason R: Example shows that there is at least one existent object or case in the world in which the
middle and major terms co-exist.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2, Bath A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4, A is not correct but R is correct

Fac oY U T UF & 3ifHYH (4) IR T &1 7@ (R) T T &

HYHY (A) : ARG HRA 1 Hd @ YR [BEl A41g Giag SUdl S9HH @1 3aed 6] dig-1d &,
IELEECIUEC]

@RU (R) ; 3G6Y U SNl ¢ (@ ®H 4 ®9 U9 diamdd a5 41 gaie s Ji9g & o 7a ug
3N 7E g Te-faemE B

Sudad ByEl & e § FRifed fAed # 4 @l awm g

1. (A) AR (R) T WE1 & 3R (R), (A) B el odEA o

2. (A) 3R (R) QT eI & TR (R), (A) I We! oIRe 78 &
3, (A) WBI € TR (R) WET 981 &

4, (A) W6l 981 & IR (R) WRI 81

[Question ID = 4402][Question Description = 129_81_GP6_SEP22_S2_Q29]
1. 1 [Option ID = 17605]
2. 2 [Option ID = 17606]
3. 3 [Option ID = 17607]
4. 4 [Option ID = 17608]



25)

An American is told by his friend that Asian buffalo is like bison in such and such respects. When the
American visits Asia and comes across a buffalo, he comes 1o know that the animal seen by him is buffale.

Which of the following means of knewledge (pramana) is used in this instance?

1. Postulation (Arthapatti)
2, Comparison (Upamana)
3. Perception (Pratyaksa)

4, Verbal Testimany (Sabda)

UE P B 39m 194 g ad] 7] [ Ue CRIEE 99 39 3% 37 95Ul § 91594 (BISON) &) o8 gl
21 99 39 JEfT 3§ U @ uE @1 SR 96 99 & 9RE 1 o 99 4 Ual 9al ik 9 forg wii @1
%), g Hg t| Fefoiag 3 € 59 3 91 (0E) B 550910 996 a1 39 994 fhar T ?

1. Jufgel
2. 394
3, Uegdf
4, ety

[Question ID = 4403][Question Description = 130_81_GP6_SEP22_S2_Q30]
1. 1 [Option ID = 17609]
2. 2 [Option ID = 17610]
3. 3 [Option ID = 17611]
4. 4 [Option ID = 17612]

26)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Static RAM is typically used for PC's main memaory while Dynamic RAM is used for CPU

cache.
Reason R: Static RAM is faster and more expensive than Dynamic:RAM.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the carrect explanation of A
3, A'is true but R is false

4, Ais false but R is true

i al @yH [GUTE 8 : U @ <@y (A) 3R G- @I DRI (R) Hel I gl

AP (4) ; ®ies 1 & fafte w9 € 9 6 & &1 37 899 & fou fem o @ wefe st
pa=ie: |1 Q20 G AR st D B BT A

TRO (R) : LD I "SEANE 0 B goml J P oo R Teri il g1
e DY P AP d FEfed faeed H U TE SR 9

1.(A) 3R (R) BT 9 & 3R (R), (A) T TR RBT 1

2. (A) 3R (R) ST G € 93 (R), (A) B el 010 T 6
3, (A) T & O3 (R) S0 &

4. (A) 5T 8 U (R) A B

[Question ID = 4404][Question Description = 131_81_GP6_SEP22_S2_Q31]



1 [Option ID = 17613]
2 [Option ID = 17614]
3 [Option ID = 17615]
4 [Option ID = 17616]

AW N =

27)
With respect to the Computers, what is the purpose of compressing a data file?

1. To encrypt the data

2. Ta occupy lessstorage space

3, To increase transmission time over a network

4, To allow the file to be read by a variety of applications

T & UG H U SIe1 I3l @] HEIY @3- o] 7 3530 51 § 7
1. STeT @I URPE & & e
LFIRRE U G
3, U9 -ica® OL 2IgHIgH eag § 9 @ & fo
4, T% 15T @] 114 SIWENT G U6 5 & (08 AT ol

[Question ID = 4405][Question Description = 132_81_GP6_SEP22_S2_Q32]
1. 1 [Option ID = 17617]
2. 2 [Option ID = 17618]
3. 3 [Option ID = 17619]
4. 4 [Option ID = 17620]

28)
Which of the following peripheral devices are considered as only input devices?

A, Microphane

B. Projector

C. loy Stick

D. Scanner

E, Track-ball

Choose the correct answer from the options given below;

1.4, C DandE only
2 A B DandE only
3,B,C, Dand E only
4 A B CandDonly



FTeTE TR [SaEds H € 6% oan 399¢ [Sasey JH ol 6 7
A ARHHBH

B. HISieey

C.9ig e

D. &P

£ emam

74 T4 7 f9eped] 5 & Wel STR 4 ;

1.®aAA, C, DARE
2. 999 A, B, DARE
3,%aAE, C,DARE
4, FIAA, B, C IR D

[Question ID = 4406][Question Description = 133_81_GP6_SEP22_S2_Q33]
1. 1 [Option ID = 17621]
2. 2 [Option ID = 17622]
3. 3 [Option ID = 17623]
4. 4 [Option ID = 17624]

29)
A Company's word-processed daily repert contains a graph from a spreadsheet. The report needs to

display the maost recent information from the spreadsheet, What feature should be used to insert the
most up-to-date graph?

1. Copy and paste

2, Mail merge wizard

3. Automated importing
4 Linking and embedding

forell Hot @] gs-U1a%s Shh® FUid § Ssdiie & Ue 715 e el | RO H dissie § ofgad @3
@ 16T ST HIG%E® gid] 8| 3RIG- WP @] JAdiaP B & (U (oG 1[0 (WBTaw) B SULRT (a1 w1 dliet

1. B AR U
2. 5O fdws
4, faifep oim wafem

[Question ID = 4407][Question Description = 134_81_GP6_SEP22_S2_Q34]
1. 1 [Option ID = 17625]
2. 2 [Option ID = 17626]
3. 3 [Option ID = 17627]
4. 4 [Option ID = 17628]



30)
Which type of virus or destructive software could appear t¢ be useful, but will actually cause damage

once installed ar run by a user?

1. Hoax

2, Worm

3. Trojan Horse
4, System Sector

54! vhiea @] 50 TSR @ a0y SEl Skoided UItedaR SUanl Hoid aidl &, e U@ 91X Siedas
S @ & alG SYal 94 gl R 91d H 394 49 sl 6

1. B1e (HOAX)

2. 91H (WORM)

3. 2184 81 (TROJAN HORSE)

4, 7% §aed  SYSTEM SECTOR)

[Question ID = 4408][Question Description = 135_81_GP6_SEP22_S2_Q35]
1. 1 [Option ID = 17629]
2. 2 [Option ID = 17630]
3. 3 [Option ID = 17631]
4. 4 [Option ID = 17632]

31)
According to Neise Pollution (Regulation and Centrol) Rules in India, noise (Lsg) in educational institutions

during night time (10pm-6am) must not excesd

1.35 dB
2.40dB
3.45dB
4, 50dB

HRa H @ gguu (fafHes wd Hgam) Fgaed & sgar, 6E sl # U9 10 99 g 4 6 99 i
% @1 AGid H GH (L.,) BT SR FEiced 9 e T8 sH9rey

1.35dB
2,40 dB
3,45 dB
4, 50dB

[Question ID = 4409][Question Description = 136_81_GP6_SEP22_S2_Q36]
1. 1 [Option ID = 17633]
2. 2 [Option ID = 17634]
3. 3 [Option ID = 17635]
4. 4 [Option ID = 17636]

32)
The percentage increase in carbon dioxide concentration in atmosphere from pre-industrial

times is approximately

1.55 %
2.50%
3,74 %
4,62 %



N B1a © Yed O aay | Bla- sasiadies Gigdl | Giowid ais T g :

1.55%
2,50%
3, 74%
4,.62%

[Question ID = 4410][Question Description = 137_81_GP6_SEP22_S2_Q37]
1 [Option ID = 17637]
2 [Option ID = 17638]
3 [Option ID = 17639]
4 [Option ID = 17640]

A w N =

33)
The highest nonzero dose at which ne toxic effect is observed in a study on animals is called

LDsg

. NOAEL
. LOAEL
. NOEFF

S 0 T W

Hfman R I om0 | o o [ue guE 9Fal ) 3EET | Fel o l ol 8, FgkRad
Hel Il & :

1.LDsp

2, NOAEL
3. LOAEL
4 NOEFF

[Question ID = 4411][Question Description = 138_81_GP6_SEP22_S2_Q38]
1. 1 [Option ID = 17641]
2. 2 [Option ID = 17642]
3. 3 [Option ID = 17643]
4. 4[Option ID = 17644]

34)
Given below are two statements, one is labelled as Assertion A and the other is labelled a5 Reason R

Assertion A: Hybrid Electric Vehicles' (HEVs) fuel running cost is lesser than Electric:Vehicles (EVs],

Reason R: Hybrid Eleciric Vehicles have beth an intemal combustion engine and an enboard electric

power generation system.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A'is correct but R is not correct

4, A is not correct but R is correct



o Ty GUIN S U o) AT (4) R T © ORI (R) T T B
AU (A) : TTISS FONGLP ATBH1 (HEVS) BT S8 T1a TN Seilae® a1ed (EVs) § P &1
ﬁ (R) : TETES Fafee® g ¥ 3iaft® ged 39 IR 6 913 gafded fggd Ides uone aFf
|
Iulad DYH| & HTI® 5 FHidd e 3 § T8l S g ;
1. (A) 3R (R) GFT 981 & 3R (R), (A) F 9l AmE 81
2. (A) 3R (R) THT W81 § T3 (R), (A) B el oI1e T8l &1

3. (A) HEl € TR (R) eI 78I B
4 (A) W18 B UG (R) HRI B

[Question ID = 4412][Question Description = 139_81_GP6_SEP22_S2_Q39]
1. 1 [Option ID = 17645]
2. 2 [Option ID = 17646]
3. 3 [Option ID = 17647]
4. 4 [Option ID = 17648]

) What is the correct chronological order of sequence from clder to newer of the following agreement,
summit and protocaols?
A, Paris Agreement
B. Mentreal Protocol
C. Kyoto Protocol
D. Rio Summit

Chowose the correct answer from the options given below

1.A,BCD
2B DCA
3.ACDE
48 C DA

HiaRey orgihan, Rre gy W@ sl & OTH 4 0 SaHd § el o0 Hl 6 7
AT Fagha

8, Alleas Hieidia

C. eI Heldla

D. feai Rrew wie

7 74U T fadbed] 5 & Wel S7R 4 ;

1.ABCD
2B DCA
3.ACDEB
4B, CDA

[Question ID = 4413][Question Description = 140_81_GP6_SEP22_S2_Q40]
1. 1 [Option ID = 17649]



2. 2 [Option ID = 17650]
3. 3 [Option ID = 17651]
4. 4 [Option ID = 17652]

36)
Which of the following universities is an Institute of Eminence?

1. Central University of Gujrat. Gandhinagar
2, University of Hyderabad

3. Tezpur University

4, Jamia Millia Islamia

fgfarad aufaaed 8 € oF 9 aeas 99 § 7

1. TR S faufaee, TR
2. BEaTE [aefaerey

3, degR [agideeE

4, SITeE i sk

[Question ID = 4414][Question Description = 141_81_GP6_SEP22_S2_Q41]
1. 1 [Option ID = 17653]
2. 2 [Option ID = 17654]
3. 3 [Option ID = 17655]
4. 4 [Option ID = 17656]

37)
Given below are two statements

Statement I: With Academic Bank of Credit facility in place, a student will be able to customize and
design own degree, provided 50% of credit are from the higher education institutions awarding the

degree.

Statement |I: Credits once used or redeemed by a student cannot be used for any other formal purpose

Or course wavers.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement |l are correct

2, Both Statement | and Statemenit |l are incorrect

3, Statement | is correct but Statement || is incorrect
4 Statement | is incorrect but Statement |l is correct



TY - | HBelS g5 b Bige YAy ar EH T TN, BF G- 5 B TEeaed §9H au] [SEed
T H W& B a9 50% $ioe, (57 & ard gwa) (R4 Her &l
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[Question ID = 4415][Question Description = 142_81_GP6_SEP22_S2_Q42]
1. 1 [Option ID = 17657]
2. 2 [Option ID = 17658]
3. 3 [Option ID = 17659]
4. 4 [Option ID = 17660]

38)
In a State government university or Central University, recommendation of the Selection Committee for

the recruitment of the faculty is-approved by the

1. Academic Council

2, Executive Council

3, Finance Committee

4. Chancellor of University

U TR & [a4faered @1 s-a1y [asfaeed H, 4er & 4dl & fau 994 giHfd @ MeiRe & Wied
Fafatad g i a6 ;

1. 9if&® ulg

2, FEGR] UNEG

3. fag afafe

4, fayfaeoy & panfugfa

[Question ID = 4416][Question Description = 143_81_GP6_SEP22_S2_Q43]
1. 1 [Option ID = 17661]
2. 2 [Option ID = 17662]
3. 3 [Option ID = 17663]
4. 4 [Option ID = 17664]



39)
Environmental education encempasses the issues of

A, Resource Consumption

B. Environmental degradation

C. Biodiversity loss

D. Economic empowerment

E, Climate change and its impact

Choose the correct answer from the options given below:;

1.4, B, Cand Donly
2.A B CandEonly
3,B, C, D and E only
4 B and Eonly

gaieeolig e J Fefiad 9t wnidc e
A, TEIEE 4T

B, JHfaRuIy g

C. 5id fafgsar &1 g1

D. e Tfdga

£, Sierarg uftad Tl SOl 9ya
e fou e fased! 7 4 1 SW T ;

1.6aA A, B, C IR D
2, FaAA, B, CHRE
3. %99E, C, D IRE
4 FAAR ARE

[Question ID = 4417][Question Description = 144_81_GP6_SEP22_S2_Q44]
1. 1 [Option ID = 17665]
2. 2 [Option ID = 17666]
3. 3 [Option ID = 17667]
4. 4 [Option ID = 17668]



40)
Given below are two statements

Statement |: The recommendations of the Radhakrishnan Commission in 1949 resemble those of

Calcutta University Commission in 1917,

Statement Il: The recommendations of the Mudaliar Commission in 1953 resemble those of John
Sergent's pest-war Educational Development Plan in 1944,

In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct

2, Both Statement | and Statement |l are incorrect
3, Statement | is correct but Statement || is incorrect
4, Statement | is incorrect but Statement |l is correct

@Y - | : 1949 H JUGEYUH A @I (BRI 1917 H Sowal [ayaeed Hhn of [gsiiEl & 922 g

@Y - 11 : 1953 F HGlerR A &1 Rwigl 1944 H S 90¢ & I§ 9¥id Qiee e gienr o
Rwfeeil & geg &

Suad YAl & e § FgeiEd Fedl § 1 9d W

1. 0YF | 3R || BF TR B
2. FYA | 3R 1 EF TEd B |
3. P | el o, [ @9 11 TTEd 81
4, YT 1 T4 & , fobq YA 1| G818

[Question ID = 4418][Question Description = 145_81_GP6_SEP22_S2_Q45]
1. 1 [Option ID = 17669]
2. 2 [Option ID = 17670]
3. 3 [Option ID = 17671]
4. 4 [Option ID = 17672]

Topic:- 22 GP_29SEPT22_SH1_52_C



1

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from a-single relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are paossible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic viclence (Hobbes) or in pacific ignorance of one another {Rousseau), is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emotional faculties needed
to promote social cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodal cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The shared biological nature of humans influences

1. The division of sodial constructs

2. The nature of institutions in seciety
3. The political behaviour of people
4, The formation of social groups
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[Question ID = 4419][Question Description = 146_81_GP6_SEP22_S2_Q46]
1. 1 [Option ID = 17673]
2. 2 [Option ID = 17674]
3. 3 [Option ID = 17675]
4. 4 [Option ID = 17676]




2)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

Human beings did not exist in a pre-social state due to

1. Social kinsfolk

2, Human pelitics across cultures:

3. Institutional limitations

4, Absence of individual independence
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[Question ID = 4420][Question Description = 147_81_GP6_SEP22_S2_Q47]
1. 1 [Option ID = 17677]
2. 2 [Option ID = 17678]
3. 3 [Option ID = 17679]
4. 4 [Option ID = 17680]



3)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

From the author's point of view, the main characteristic of human society has been

1. Anarchic violence

2. Pacific ignorance of ane another
3. Kinship based sedial groups

4. Calculated individual relations
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[Question ID = 4421][Question Description = 148_81_GP6_SEP22_S2_Q48]
1. 1 [Option ID = 17681]
2. 2 [Option ID = 17682]
3. 3 [Option ID = 17683]
4. 4 [Option ID = 17684]




4)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The concept of social cooperation involves
A Kin selection

B. Cognitive faculty

C. Emotional detachment

D. Reciprocal altruism

Choose the correct option:

1.4 and B only
2.B and Conly
3.Cand D only
4.4 and D only
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5)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The passage recognises-the fact that human sociability has

1. Pelitical determinants

2. Rational cheice model

3. Integrated cellective action
4. Genetic linkage
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